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Question Number : 1 Question Id : 2752286236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, one of the option cannot be formed by the word, given in the question. Find that word.

ENCYCLOPEDIA
Options :

1. * COINED

2. % POLICY

3. ®* PLACID

4, ¥ LINKED

Question Number : 1 Question Id : 2752286236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

faferiad Uy & ue 7 fou U weg gRT, [Ahed & T U &1 718 81 fohdl & Tohdl 8 | 98 Wsg J1d He |

ENCYCLOPEDIA
Options :

1. % COINED

2. % POLICY

3. ¥ PLACID

4. ¥ LINKED

Question Number : 2 Question Id : 2752286237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

P9_pqq_qqp_q
Options :
1. # qqq
2. % qqp
3. ¥ qpq
4. % pqq

Question Number : 2 Question Id : 2752286237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad saen & qu ug I1d &

Pq_pqq_qqp_q
Options :
1. % qqq
2. % qqp
3. ¥ qpq




4. ® pqq

Question Number : 3 Question Id : 2752286238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following letter series:

BCQ, DER, FGS,
Options :
1. ® GKT
2. % HIT
3. # HIS
4. % GJU

Question Number : 3 Question Id : 2752286238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad &R e o1 Q1

BCQ, DER, FGS,
Options :
1. ® GKT
2. % HIT
3. * HJS
4. % GJU

Question Number : 4 Question Id : 2752286239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series:

BKT, HQZ, NWF, TCL, ZHR
Options :



1. % HQZ
2. % NWF
3. % TCL
4. ¥ ZHR

Question Number : 4 Question Id : 2752286239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad saan o Tad ug I1d o
BKT, HQZ, NWF, TCL, ZHR

Options :

1. ® HQZ

2. % NWF

3. ®* TCL
4. ¥ ZHR

Question Number : 5 Question Id : 2752286240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % OQT
2. % KMP
3. * WYB
4. ¥ HIN

Question Number : 5 Question Id : 2752286240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T fiiwedl A @ & e Rfyd % T TuH B 1 gTalTP, T faeed 3 diF ot aRE Tl ¢ | 39 A et &1 I &Y oY 30 ¥ 3T B




Options :
1. # OQT
2. % KMP
3. % WYB
4. ¥ HIN

Question Number : 6 Question Id : 2752286241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. ¥ Boat
2. # Cycle
3. # Bus
4. % Car

Question Number : 6 Question Id : 2752286241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl 7 @ &t Afa % F gaM &1 gTifes, T fAdhed 370 9 o1 g 781 81 39 A ey &1 T &3 oY 370 T 3(cT g |
Options :

1.+ {ld

2. % HrEfbd

3. % dY

4, ¥ DR

Question Number : 7 Question Id : 2752286242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.



Options :

1. # GMT : KQX
2. % OVB:SZF
3. % FIL : IMP
4. ¥ KQZ : ENR

Question Number : 7 Question Id : 2752286242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faeedl & @ & e g % T gaM &1 gTdifes, T fAdhed 370 9 o1 g 781 81 39 fdched &1 T &3 oY 3170 T 3(cT g |
Options :

1. % GMT : KQX

2. % OVB:SZF

3. # FIL : IMP

4. ¥ KQZ : ENR

Question Number : 8 Question Id : 2752286243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # Bow : Arrow

2. % Buy : Sell

3. % Chair : Table

4. ¥ Profit : Earnings

Question Number : 8 Question Id : 2752286243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl # @ & te Rfyd a5 A TuE &1 gTlTP, T faed 3 diF o1 oRE el ¢ | 39 fdhcd o1 I8 &Y off 310 ¥ 3T B

Options :



1. * YV . d[0

2. % WA : ST
S.Wﬁ:ﬂ\_ﬂ

4. Y ST

Question Number : 9 Question Id : 2752286244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Hammer : Tool :: Lizard : ?
Options :

1. ¥ Mammal

2. ¥ Reptile

3. ¥ Amphibian

4. ¥ Rodent

Question Number : 9 Question Id : 2752286244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 9oy &1 999 B S el Ue I I UHR ¥ A&fd ¢ o UHR ¥ gkl UE Ugd U & Hafdd g
TUIST : JUHR :: fesuana! : 2

Options :

1. % YR
2. ¢ WYY
3. % JYINR
4. % Hdd

Question Number : 10 Question Id : 2752286245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to the third term on the same basis as the second term is related to the first term.

NSX : KPU :: RHQ : ?
Options :

1. ¥ OEN

2. % OGN

3. % MGO

4. ¥ NDP

Question Number : 10 Question Id : 2752286245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § Ford TR | g¥R1 U Ugd Ue § Yefid g

NSX : KPU :: RHQ : ?
Options :

1. ¥ OEN

2. % OGN

3. ¥ MGO

4. ¥ NDP

Question Number : 11 Question Id : 2752286246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Taka : Bangladesh :: ?
Options :

1. # Yen : China

2. # Drachma : South Africa
3. % Kuwait : Dirham

4. ¥ Rial : Iran



Question Number : 11 Question Id : 2752286246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SISt BT Ig B S Uy T <1 718 SIS 9HH ISR § Tafdd ]

ThT : FICTGRT 22
Options :

Question Number : 12 Question Id : 2752286247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

GPF : IOH :: ?
Options :

1. * DMK : FPN
2. % RIC: TKE
3. % VUG : XTI
4. % XRH : ZUG

Question Number : 12 Question Id : 2752286247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS B T B S Uy A ) 12 S & 9HH YR I Yefa ]

GPF : 1IOH :: ?
Options :

1. % DMK : FPN
2. % RJC: TKE



3. ¥ VUG : XTI
4. * XRH : ZUG

Question Number : 13 Question Id : 2752286248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Violet is Indigo, Indigo is Blue, Blue is Green, Green is Yellow, Yellow is Orange, Orange is Red, Red is White, White is Black, then which of
the following is the color of sheep?

Options :
1. * White
2. ¥ Black
3. * Yellow
4. * Red

Question Number : 13 Question Id : 2752286248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g@m%m%%WW%WW%WW%WW%NW%Wméﬁﬁaﬁﬁaﬁﬁ%ww
a7 g?

Options :

1. % ghg

2. % DIl

3. % Uiell

4, % oldd

Question Number : 14 Question Id : 2752286249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, Q=T, K=N and A=D, then how will MOVE be coded as?
Options :

1. ¥ OQUI

2. % SQXI



3. ¥ PRYH
4. %= RSZU

Question Number : 14 Question Id : 2752286249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A Brs T &, Q=T, K=N 3R A=D &, df MOVE &I »¥ HIfsd forar Smam?
Options :

1. ¥ OQUI

2. % SQXI

3. ¥ PRYH

4. % RSZU

Question Number : 15 Question Id : 2752286250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If SMALL = 57, MUST = 73, then what is the code for FINGER?
Options :

1. % 48

2. % 62

3. % 50

4.+ 59

Question Number : 15 Question Id : 2752286250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gf& SMALL = 57, MUST = 73 §, Al FINGER & dTU ®1S &1 52
Options :

1. % 48

2. % 62

3. % 50

4.+ 59



Question Number : 16 Question Id : 2752286251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

zin min tin lin means she loves rock music
gin zin yin tin means she has big rock

fin gin sin tin means she has smart watch
what is the code for big?

Options :
1. ¥ yin
2. % tin
3. % lin

4. % zin

Question Number : 16 Question Id : 2752286251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS [Mid ®is 1IN H,

zin min tin lin T 3 Qf % she loves rock music

gin zin yin tin I 31 B she has big rock
fin gin sin tin DT 3{ %} B she has smart watch

big & o PIs FT?
Options :

1. ¥ yin

2. % tin

3. ® lin

4. ® zin

Question Number : 17 Question Id : 2752286252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A is the father of B and C. B is the son of A but C is not the son of A. How is C related to A?



Options :

1. # Niece

2. ¥ Daughter
3. # Nephew
4. % Brother

Question Number : 17 Question Id : 2752286252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,BIRCHITUAG IB,ABTTAE AMBAC, ABTTA TR 81 C, A T HY Hafd g2
Options :

1. % ol

2. ¥ 9

3. % Hdel

4. % g

Question Number : 18 Question Id : 2752286253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the following in a logical sequence:

1. Foot
2. Eyes
3. Legs
4. Neck
5. Stomach

Options :

1. % 542,1,3
2.%3,1,2,4,5
3. 1,3,5,4,2
4. % 2,54,1,3

Question Number : 18 Question Id : 2752286253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fRofefad o aifde wr & saafud &3

LW
2. 31
3.2

4. TRSH
5.Uc

Options :

1. % 5,4,2,1,3
2.% 3,1,2,4,5
3.1,3,5,4,2
4. % 2.54,1,3

Question Number : 19 Question Id : 2752286254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ritika, Esha, Nisha, Vishal, Darsh and Faiz are sitting around a round table facing the centre. Ritika is opposite Nisha, who is to the right of Faiz,
who is not opposite Esha, Ritika is next to Vishal. If Esha is opposite Vishal, then who is to the right of Darsh?

Options :
1. # Vishal
2. % Darsh
3. * Faiz

4. ¥ Ritika

Question Number : 19 Question Id : 2752286254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefarepT, S, fram, fammar, <=f 3R el g 1 3R T b Teb Tiie A1 & ARI 3R 90 31 Rfder F=n & fAudia 8, 5 o & <rg 3ik 3, o
S0 o fauia T8 &, Rifcrep fairer o arvret 6 €1 afe $am fasimer o faudia ot &, dt axf & <@g SR IF &

Options :

1. % fqumd



2. % ggf
3. % Ty
4. ¢ Rfdepr

Question Number : 20 Question Id : 2752286255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class, Manisha's rank is 29th in the class and Nisha is 8 ranks ahead of Manisha. If Nisha ranks 32nd from the last, then how many students
are there in the class?

Options :
1. % 51
2. % 53
3. % 54
4.9 52

Question Number : 20 Question Id : 2752286255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

USh P& H, A0 B 3b HaT H 2091 § 3R = A1 3 ¢ ¥ 3l g1 afe fwm sifaw @ 329 Vs R g, A e H frada o 82

Options :
1. # 51
2. % 53
3. % 54
4. ¥ 52
General Ability2
Group Number : 2
Group Id : 275228224
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Ability2

Section Id : 275228326
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228391
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752286256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question one statement is given, followed by two course of actions, I and II. You have to consider the statements to be true even if it seems

to be at variance from commonly known facts. You have to decide which of the given course of actions, if any, follows from the given
statements.

Statement: 80 percent of the student in class IX B failed in their final examination.

Course of Actions:

I : Teachers of Class IX B are not teaching properly, so they should be fired.

II : New teaching techniques should be implemented which will help students in understanding concepts in a better way.
Options :

1. * Only I follows



2. % Only II follows
3. #* Both I and II follows
4. % Neither [ nor II follows

Question Number : 21 Question Id : 2752286256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HY a1 a1 8, o a1 HIRATS & &l pH 1 3R 11 AT MU § | 3MUp! 37 Y1 &l I HFAT 8, Yl & g JrHId: I1d a9 3
o diid 811 3mue g iy A R b feu U ke & 0 § A 19 I, 3fe B1S &), A T T Y 1 STERU HRaT B |

Y H&T X B H 80 Ufrd a1 31U+t 3ifar udten # fawd 3|

HRATS B HH:
I: & IX B & & 31 ¥ T1 UGI X5 §, IUT 3¢ HbId fed1 ol afey|
11: 3 FRI&01 dh-1ph| BI AN fat ST a1feT St ST 1 SAURUNSH B 9gaR did I THH H AGg Hil|

Options :

1. # $Had | IR0 IR §

2. ¥ HAd I1 IR0 B §

3. % [ 3R 1 ST SFIERUI xd §
4. % 1 3R 8 11 STIRUT 3l §

Question Number : 22 Question Id : 2752286257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All fish are tadpoles.
Statement 2 : All tadpoles are frogs.

Conclusion I : All frogs are tadpoles.
Conclusion II : All tadpoles are fish.

Options :

1. % Only conclusion I follows



2. # Only conclusion II follows
3. #* Both I and II follows
4. « Neither [ nor II follows

Question Number : 22 Question Id : 2752286257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & & pY= feu U 8, fo e a1 gl e 1 3R 11 fau 77U §1 3imueh! 37 HUAT &) I A1 8, Y 81 I8 ITHId: J1d a7 3 e Ui
g1l iU 78 fufg o § 13 fow e feepef & @ 1 a1, 3fe 1S 81, O fAT 71U %o 7 SrgRur axan 8|

HY 1: I Taferdl Ags & 9= B
HYT2: I Agh & I Heb & |

fenef 1. guft Ao Aer F I=H B

ey 11 93t Age & s= Aol g
Options :

1. # $Had [T5HY [ 3IERU Hdl §
2. % Had fHY 11 ST BT &
3. % [ 3R 1 ST SFIERUI xd §

4. 1 3R A8 11 STIR0T 3l §

Question Number : 23 Question Id : 2752286258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, one statement is given, followed by two arguments I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given arguments, if any, supports the given statement.

Statement: Should there be compulsory medical checkup of employees before they join any organisation?

Arguments:
I. Yes, it will help organisation to know about the medical fitness of the employees before they join the organisation.
II. No, it will intrude the privacy of the individuals and hence is not appropriate.

Options :
1. ¥ Only argument I is strong



2. % Only argument II is strong
3. % Both argument I and argument II is strong

4. # Neither argument I nor argument II is strong

Question Number : 23 Question Id : 2752286258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & T HU a1 a1 8, forge 91 &l db 1 3R 11 feT T &1 3ueh! 39 HUAl &) I A1 §, Y 81 I8 JTHId: J1d 97 I e Ui
g1 31Ut 78 fufg A § 1 fou e aeef & § & 1, 3fe $1S 8, d f3T 70 S &1 3R #ReT 2|

HY: fordd! off T8 & I3 T ugd HHARA! ®1 Hard fafred ST gt afew?

db:

. 81, 39 6 H I8 ¥ Ugd HHATRA! &I AfSHhd fthed & TR H S H WTe &) Hag [ |
11 78}, I8 ufaaal &1 Mu=Iadr & S1fdd ST 3R s9fad a8 Ifd 181 81

Options :

1. ¢ Had do [ 999 §

2. % Had do [ 994 8

3. % g [ 3R T [1 SH Jad

4. % 9dD [RAE IITA B

Question Number : 24 Question Id : 2752286259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some forks are plates.
Statement 2 : All plates are spoon.

Conclusion I : Some plates are forks.
Conclusion II : Some spoon are forks.
Conclusion III : All forks are spoon.



Options :

1. % Only conclusion I follows

2. % Only conclusion I and II follows
3. % Only conclusion I and III follows
4. # All conclusions I, I and III follow

Question Number : 24 Question Id : 2752286259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy § & pY= feu U 8, foges a1 o9 s 1, 11 3R 111 fRT 711 8 1 31TuehY 39 Y=l &) I HFHT 8, Hal 81 I8 IrH=ae: I 92 I fire
Tdid 811 319! g fAofg a1 § 3 fau 7 feesf & @ o9 1, afe 13 8, @t fRu T wy=i & | SrRu axar 8|

HYT 1. FS Hic We g

FY 2: It Wi THa g |

fpY I: $& W Fic g

s 11 $& I HiC g |

s r: Jaft wie T B

Options :

1. % had (s [ 3IER0 R §

2. ¢ I DY [ 3R 11 SRV BT §

3. % Had F5HY [ 3R [ SIERV Bl §
4. % Jft Fepel 1, 11 SR 111 SRRV $vd §

Question Number : 25 Question Id : 2752286260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

24:60::64:7?
Options :
1. ¥ 160
2. % 120



3. % 128
4. *= 146

Question Number : 25 Question Id : 2752286260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faed &1 79 & S R U ¥ I TSR T Taifdrd § o TR I g¥R1 S Ugd Ue § Yefid g

24:60::64:7
Options :
1. ¥ 160
2. % 120
3. % 128
4. % 146

Question Number : 26 Question Id : 2752286261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the following series:

3, 6,24, , 1152
Options :

1. ® 96

2.9 144

3. % 120

4. % 156

Question Number : 26 Question Id : 2752286261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad e 4 qud e I e

3,6, 24, , 1152



Options :
1. * 96

2.9 144
3. % 120
4. % 156

Question Number : 27 Question Id : 2752286262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If15#17=48,17#13=45,18 @ 14 =48, then 16 @ 22 =7
Options :

1. % 76

2. % 114

3. % 38

4.9 57

Question Number : 27 Question Id : 2752286262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG 15#17=48, 17#13=45,18@ 14=48%, W16 @22="2
Options :

1. ® 76

2. % 114

3. % 38

4. 57

Question Number : 28 Question Id : 2752286263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the least number which when divided by 7, 14 and 35 leaves a remainder 8 in each case.
Options :

1. % 70



2. % 100
3. ¢ 78
4. % 45

Question Number : 28 Question Id : 2752286263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN =T 1 B3 o 7, 14 3R 35 AU 37 R Tl fRUfA & Avhd 8 Biear gl
Options :

1. % 70

2. %100

3.¥ 78

4, % 45

Question Number : 29 Question Id : 2752286264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of people in a colony who are teachers, writers and singers. There are 100 people in the colony. How
many of these people are none of the above?

Teacher Writer

A
(5N

Singer

Options :
1. %10
2. % 24
3.9 20



4. % 16

Question Number : 29 Question Id : 2752286264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fEU T 3 3T T TP Bicl=l b ARl DT TSAT GRI TS § Sl LA, AWP AR TP ¢ | DI H 100 AT 5|

278 ¥ fohds AT SWRiad & A BIs gl 22

AR A

A
(30

Options :
1. %10
2. %24
3.9 20
4. % 16

Question Number : 30 Question Id : 2752286265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following figure, triangle represents Indians, rectangle represents cooks, circle represents footballers. How many Indian footballers are
cook?



Options :
1. % 20
2.¥10
3. % 15
4. % 18

Question Number : 30 Question Id : 2752286265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad siefa 8, Brys wRdat &1 wfaffia #ar 3, smad srafdal &1 ufaffid oRd1 8, 30 Fedrer &1 ufaffia Harg | fea
YRAT Heaiar mﬁ%?

Options :
1. % 20
2.%10



3. % 15
4. % 18

Question Number : 31 Question Id : 2752286266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between animals, amphibians, reptiles?
Options :

A
NC/AY,

S
O
NO¥%

Question Number : 31 Question Id : 2752286266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoiad # & B9 I 9 3T SHaR], SHTER, THGUT & ol & Tait) B T 33T el 82

Options :



Question Number : 32 Question Id : 2752286267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given Venn diagram shows the number of students who are a member of quiz, dance and debate Club. How many of these students are a
member of dance club?

Debate Quiz

>
(X

Dance

Options :



1. #® 26
2. % 18
3. %20
4.9 34

Question Number : 32 Question Id : 2752286267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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BTG e S s
88

LI

Options :
1. % 26
2. % 18
3. %20
4. 34

Question Number : 33 Question Id : 2752286268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.



[x] a A
[o[+] |*| o] [|*°] ]z . 5
=151 | |0 oo FIN] | ;
[©] - Q
Options :
N
[z]c
Al Q]
F
1. v
N
lz]c
Al Fl
Q
2. %
Q]
(z]c
AlF]|
N
3. % —
Q]
F4 [
N|F|
(Al
4, %

Question Number : 33 Question Id : 2752286268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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[x] a A
[o[+] |*| o] [|*°] |z . 5
=15%] |o x|O]| oo FIN] | ;
[©] - Q
Options :
N
[z]c
Al Q|
F
1. v
N]
lz]c
Al Fl
Q
2. %
Q
(z]c
AlF]
N
3. % —
Q
F4 [
N|F|
(Al
4. %

Question Number : 34 Question Id : 2752286269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

F MK Fl|Z KM Z

o o Q O
-0 [ hell [ ] -9
oo oo oo oA©O

o0 o® L

K Z|Z M{ M F|F K
(A) (B) (C) (D)

Options :

1. % Image A
2. % Image B
3. ® Image C
4. % Image D

Question Number : 34 Question Id : 2752286269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & § &1 91 fadwed g@ar § Tad i g2

F M| K Fl|Z KIM Z
o 0 0
8| | & | &
K Z|z M| M F|F K
(A) (B) (C) (D)
Options :
1. % BfdA
2. % BfdB
3. % BfdC

4. ¢ BAD



Question Number : 35 Question Id : 2752286270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
V
1. %
VAVAN
2. ¥
VWV
3. %
AVAVAVAYY
4, %

Question Number : 35 Question Id : 2752286270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e faedl 7 @ & T g 9% I UM &1 g, T [Ahed 370 diF &1 a8 81 8| 39 A ey o1 T & off 37 T 3T g |

Options :




] %
VAVAN
2. ¥
VVV
3. %
AYAYAYAY
4. %

Question Number : 36 Question Id : 2752286271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

o
» 0+

$A #HO|% A # +
Options :




o]

| % $A# @
-+
o

5 % S# A@
+
o]

3 @ $A#a@
+
o]

L 3#A@

Question Number : 36 Question Id : 2752286271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Fraffed # 3 o SR 3l Uy 3a Bt 4R BT IR el 82



+ 7
(o] O
S$AHO[sAH A+ AH +

Options :

+

o
L% SAH# @

+

O
5 % SHA@

+

O
3 @ sAH @

+

O
4 % S# A@

Question Number : 37 Question Id : 2752286272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A cube is painted Red on two adjacent faces, Blue on other two adjacent faces and Green on the last two adjacent faces. This cube is cut into 125
smaller cubes. How many of these smaller cubes will have only three faces painted or no paint on any of its faces?

Options :
1. ® 36
2. % 25
3. % 24
4, 35

Question Number : 37 Question Id : 2752286272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS I &1 3 A9 BAD! () TR AT, 30 & Jold Badh! () TR il 3R REs) & I Bad! () W & J Ue fFarsrar g1 39
I DI 125 BIC G-I | HIeT o1l ¢ | 3749 I fha- BI o1 H Had diF Bas! () B Ue fhanm a1 39 fedt ot vas (b)) R @15 Ue
eI BN

Options :

1. % 36

2. % 25

3. % 24

4.4 35

Question Number : 38 Question Id : 2752286273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

“aa "
aa8|8 @

Options :



. -
w LI |
1.
-
i-"
-‘. 4.:
2. % [2elf
- L
. -
. -
3.9 L2 b
t-‘ -
e |* s
-
4 % e |

Question Number : 38 Question Id : 2752286273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR P & FRfRad T 9 S A1 o U P TT H Gl O & YR TR ! ST I Jabell 57

L]
]

“aa "
aa8|8 @

Options :




[ ]
- e
4‘. ‘:
). % L2 el
L L ]
- -
. -
3. L2 L
t"“ *
se |® .
- -
4 H - - -

Question Number : 39 Question Id : 2752286274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

OO

OO

Options :

O L

o

1. ¢



2¥3_I O
Ll O

3. % O
o
4.“0 O

Question Number : 39 Question Id : 2752286274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafied & 9 ®1F T SR H1d Ue B U SAHId T & [ SIST S el 62

O|O

o][e

Options :



2. % L O
N
O
3. %
L
O O
4, %

Question Number : 40 Question Id : 2752286275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?




Options :

(L
6
()

Question Number : 40 Question Id : 2752286275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

General Awarenessl



Group Number : 3

Group Id : 275228225
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 275228327
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228392
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752286276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mrinalini Sarabhai was trained in which one of the following dance forms?
Options :

1. #* Gotipua

2. % Bihu

3. ¥ Bharatnatyam

4. * Lavani



Question Number : 41 Question Id : 2752286276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oot IRTHTS &1 fFafaRad & 9 fow 7o = o uiiférd fovar mar 4t

Options :

Question Number : 42 Question Id : 2752286277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, Annapurna Devi was a notable performer of which musical instrument?
Options :

1. % Sarangi

2. % Ghatam

3. % Pakhawaj

4. ¥ Surbahar

Question Number : 42 Question Id : 2752286277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad # 9, srrqui Gt oy arerds i URig HeoR &f?
Options :

1. % R

2. % YIdH

3. ® gy@al

4. % YUdeR



Question Number : 43 Question Id : 2752286278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is the venue of the Kumbh Mela in 2021?
Options :

1. # Nashik

2. % Ujjain

3. % Haridwar

4. % Prayagraj

Question Number : 43 Question Id : 2752286278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2021 H, FOffad & @ & I F™ Ad & R 82
Options :

1. % 1Ry

2. % IwIF

3. ¥ BRER

4. % TR

Question Number : 44 Question Id : 2752286279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jhulta Minar is located in which one of the following states of India?
Options :

1. % Uttar Pradesh

2. ¥ Gujarat

3. ¥ Andhra Pradesh

4. % Rajasthan

Question Number : 44 Question Id : 2752286279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

el HHR HRd & Fafafed 3 9 fog wsg o Ryd 82
Options :

1. % WU

2. ¥ I[SRId

3. % s e

4, % ST

Question Number : 45 Question Id : 2752286280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, who presents the Union Budget of India in Parliament?
Options :

1. % Chief Economic Advisor

2. # Finance Secretary

3. ¥ Finance Minister

4. % Prime Minister

Question Number : 45 Question Id : 2752286280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed # §, P T9e § YR BT H1T Soic Tdd BT 82
Options :

1. ® A 3N TARHR

2. % o g

3. ¢ o< w4l

4. % Y HA

Question Number : 46 Question Id : 2752286281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Amongst the following, who became the first Chairman of the Planning Commission in 19507
Options :

1. % Sardar Vallabhbhai Patel

2. % Jawaharlal Nehru

3. # Indira Gandhi

4. ®% Morarji Desai

Question Number : 46 Question Id : 2752286281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9, S 1950 & TISHT SR &1 UgaT 3Hegef -1
Options :

1. % TRER JAHHTS Uq

2. ¥ SAIERATA Ag&

3. % gfaRymieht

4. ® ORI AT

Question Number : 47 Question Id : 2752286282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, the market value of share is described by
Options :

1. % PO value of the share

2. ¥ buying or selling value of share

3. ® book value of share

4. # future values of all earnings on the share

Question Number : 47 Question Id : 2752286282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifea # 9, R &1 IeR g gRTaffa gl

Options :



1. % R BT IPO oA

2. ¢ TR B G BRIGAT I S

3. % YRR BT QI G

4. % IR R FH IS BT HIdT Hed

Question Number : 48 Question Id : 2752286283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Law of diminishing marginal utility, means the first unit of consumption of a good yields than the second unit.
Options :

1. # more price
2. # less price
3. % more utility
4. # less utility

Question Number : 48 Question Id : 2752286283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIEH ST SUAIAT & F1gw &1 312l & b, 9% B @ud 1 Ugell 31S gudl 318 B! gl o 3ffd Bl B |
Options :

1. # 3ffdeh PHIAd

2. % HH B

3. ¢ 3D IUTINTAT

4. % HH IUYINT

Question Number : 49 Question Id : 2752286284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As on April 2020, GST on gold as a good is percent , while in case of gold jewellery an additional 5 percent GST is applicable on
the making charges of the gold ornaments.

Options :



1. % 2
2.% 15
3.3
4. %25

Question Number : 49 Question Id : 2752286284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

35T 2020 I, T P €T H T TR GST UfI=Id &, STafdh TiH & SN &1 FRUfA & TH & mywor & FHfor Yeb R
3ffafeed 5 iR GST @] & |

Options :
1. % 2
2.% 15
3.3
4. % 25

Question Number : 50 Question Id : 2752286285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concepts of work and energy share which one of the following units of measurement?
Options :

1. ® Watt

2. % Ohm

3. ¥ Joule

4. % Ampere

Question Number : 50 Question Id : 2752286285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 3R SHoll BT ATYRT, ATY P FHgferRad shrsal 7 § frgds Iy ame ol 822
Options :

1. % gic




2. % 3fH

3. ¢ S
4. % TRRR

Question Number : 51 Question Id : 2752286286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sugar has the ability to absorb moisture from the surrounding it is exposed to. One of the following terms that describes this is known as

Options :

1. % Eroding

2. # Condensation
3. % Activation

4. ¥ Hygroscopy

Question Number : 51 Question Id : 2752286286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A H SO HISlg T8 ¥ SN B P &1 8l & forye Tuh § 98 gid! 8| 39T 9uiF &+ ara fRafifed wsal # 9 T &1
& FY H S ST |

Options :

1. % AT

2. % g

3. % giohgur

4. ¢ TEIRSIU

Question Number : 52 Question Id : 2752286287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the following is classified as a flowering plant. Name it.
Options :

1. ¥ Grasses



2. * Conifers
3. * Ferns

4. % Mosses

Question Number : 52 Question Id : 2752286287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifead o ¥ T &) BoeR T8 & w0 § arffed foar mar 81 919 sand|
Options :

1. ¥ Yq

2. % DIVYRY

3. % e

4. % g

Question Number : 53 Question Id : 2752286288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following should not be added to convert waste to compost in a compost pit?
Options :

1. ¥ Leaves

2. # Microorganisms

3. ¥ Plastic items

4. # Water

Question Number : 53 Question Id : 2752286288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHRE &b Tg H DR Bl SRS H Faer & forg aferad # A fbd gt ST o =g
Options :

1. % Ud

2. % geriidl




3. ¥ WREH B Oy
4. % T

Question Number : 54 Question Id : 2752286289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following describes the term "hypochondria"?
Options :

1. # Sleep with hallucinations

2. # Excessive snoring

3. % Daytime sleeping

4. ¥ Anxiety about state of health

Question Number : 54 Question Id : 2752286289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafeRed & 9 31 91 eg "ITyH" HT 0 BT 52
Options :

1. % fayifer o Y fHer

2. % YD WRIC

3. % feT H FH

4. ¢ WY &1 RYfd & IR A i

Question Number : 55 Question Id : 2752286290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, which river was earlier known as the "Sorrow of Bengal"?
Options :

1. # Kosi

2. % Damodar

3. ® Subarnarekha



4. % Teesta

Question Number : 55 Question Id : 2752286290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad 4 9, forg et & uga "SI o1 STHRITY" Sl Srdr Ur?
Options :

1. % DIl

2. ¢ THIR

3. % gauRw

4. % di&d

Question Number : 56 Question Id : 2752286291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a Himalayan pass?
Options :

1. ¥ Palghat pass

2. % Banihal pass

3. % KoraLa

4. % ZojiLa

Question Number : 56 Question Id : 2752286291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofafea & & @ 1 feareem i 82
Options :

1. ¢ UTqHIe &xf

2. % ggTd a3

3. % BRI

4. % STl




Question Number : 57 Question Id : 2752286292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, which state produces the maximum quantity of coffee in India?
Options :

1. ¥ Karnataka

2. % QOdisha

3. ® Tamil Nadu

4. % Kerala

Question Number : 57 Question Id : 2752286292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2020 TP, P T I HRA T B! BT b dH AHT BT IdTeT Hdl g2
Options :

1. ¢ PAlch
2. % 3fifsEm
3. % i A1
4. % P

Question Number : 58 Question Id : 2752286293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Indus Waters Treaty between India and Pakistan, India has been allowed the usage of which of the following rivers?
Options :

1. #* Indus, Jhelum, Chenab

2. # Ravi, Indus, Chenab

3. # Chenab, Jhelum, Ravi

4. ¥ Beas, Ravi, Sutlej

Question Number : 58 Question Id : 2752286293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YR 3R U & sita R 5Tat T & S8R, YR &1 Fafafad o 9 forg 7d & Suaim o srgafa & s g2
Options :

1. % Ry, a9, T

2. % fq, Ry, T-E

3. % e, gom, 3fa

4. ¥ O, X4, Tl

Question Number : 59 Question Id : 2752286294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, who is known as the author of Arthashastra?
Options :

1. % Kalidasa

2. # Varahamihira

3. # Aryabhatta

4. ¢ Kautilya

Question Number : 59 Question Id : 2752286294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifaa & 3, f5T fure & d@e & =0 | ST SfldT 82
Options :

1. % BIfce™

2. % R

3. % 3Mfyg

4. ¥ Difeq

Question Number : 60 Question Id : 2752286295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which one of the following kings of the Vijayanagara empire belonged to the Tuluva dynasty?
Options :

1. # Harihara I

2. ¥ Krishnadevaraya

3. # Thimma Bhupala

4. % Sriranga |

Question Number : 60 Question Id : 2752286295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRed o § fooR ITHSg &1 ©19 91 TS Jda A9 I J&fid o1
Options :

1. % gReX1

2. ¥ PUGRIY

3. % fm e
4. % 4RI

General Awareness2
Group Number : 4
Group Id : 275228226
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness2

Section Id : 275228328
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228393
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752286296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following Sikh gurus standardized and popularized the Gurmukhi script?
Options :

1. ¥ Guru Nanak

2. # Guru Tegh Bahadur

3. % Guru Angad

4. % Guru Gobind Singh

Question Number : 61 Question Id : 2752286296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied & 9 ford Rra % 7 RS Al & aFeied (BT 3R T v sHEmn
Options :

1. #® > qHdh

2. % 1% 7T dgTgR

3. ¥ 1% 3T

4. % T Mig< Rig



Question Number : 62 Question Id : 2752286297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year did the Bastar rebellion take place?
Options :

1. ¥ 1910

2. % 1900

3. % 1905

4. % 1907

Question Number : 62 Question Id : 2752286297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SR fagTg foog o # gam um

Options :

1. ¥ 1910

2. %1900

3. % 1905

4. % 1907

Question Number : 63 Question Id : 2752286298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following was the venue for Mahatma Gandhi's Quit India speech in 1942?
Options :

1. # Sabarmati Ashram

2. % Cellular Jail

3. % Red Fort

4. ¥ Gowalia Tank Maidan

Question Number : 63 Question Id : 2752286298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafefaa & § &9 T1 1942 H, 78T Tieh & YR BIS! HIVUT & oI =i 412
Options :

1. % FraRyd! 1A

2. % YegeR ol

3. % od fopa

4.« Taiferar & AeM

Question Number : 64 Question Id : 2752286299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, who created the "You Said It" comic strip featured in the The Times of India?
Options :

1. # Satish Acharya

2. ¥ R.K. Laxman

3. # Sudhir Tailang

4. ¥ Abu Abraham

Question Number : 64 Question Id : 2752286299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 9, 3 crsw 3it $f&ar d ol "g ¥s 3" Biie Ry foa o5 Ui
Options :

1. % Gl et

2. ¥ 3R.b. AEH

3. % geR dam

4. % 3[q 3fsTEH

Question Number : 65 Question Id : 2752286300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, name India's highest military honour for distinguished valour during wartime.
Options :

1. % Param Vir Chakra

2. # Ashok Chakra

3. #% Kirti Chakra

4. % Mabha Vir Chakra

Question Number : 65 Question Id : 2752286300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafied § 9, gg & SRE ufaffd dRar & fow YR & e g T4 &1 914 9d13U|
Options :

1. ¢ IREIR deh

2. % 3fMp dh

3. % Pifd T

4. % TGMAR dch

Question Number : 66 Question Id : 2752286301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is not a literary work by Munshi Premchand?
Options :

1. % Shatranj ke Khiladi

2. % Nirmala

3. ¥ Anamdas ka Potha

4. % Gaban

Question Number : 66 Question Id : 2752286301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

42 Uwreie gR1 Fafead # @ &1 91 aifefdie il =8t 82



Options :

1. % YRS o faarst
2. % frar

3. ¢ SFHTHG BT Uld
4. #® Td4

Question Number : 67 Question Id : 2752286302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the code name for India's first nuclear test conducted at Pokhran in 1974?
Options :

1. % Operation Shakti

2. # Peaceful Buddha

3. % Operation Bandar

4. ¥ Smiling Buddha

Question Number : 67 Question Id : 2752286302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1974 H ORERUT H SO HRA & UG URHTY] URIEUT T HIS -ATH T UT?
Options :

1. % 3TORTH fek

2. % UNGd §5

3. % S{IURYA SR

4. ¥ W g

Question Number : 68 Question Id : 2752286303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As on 7th April 2020, India had announced limited exports of popular drug hydroxychloroquine.

Options :



1. ¥ anti-malarial
2. * anti-viral
3. # anti-bacterial

4. # anti-fungal

Question Number : 68 Question Id : 2752286303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 U 2020 TP, HRT 3 ABHT 341 SRS IRIFARIS I & Tiferd faid o1 aron &t 2|
Options :

1.  T-HaRan

2. % Ud-aRRd

3. % TeldRINgd

4. % TA-BIA

Question Number : 69 Question Id : 2752286304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, which airline operated India's first cargo-on-seat flight for carrying crucial supplies in the wake of the coronavirus pandemic?
Options :

1. # GoAir

2. % Indigo

3. ¥ SpiceJet

4. ¥ Vistara

Question Number : 69 Question Id : 2752286304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 2020 TP, HRIFTATERY HEHRI & HE-oR [ TORETS - Hedqul 3Mgfd #3- & AT YR &1 Ugdl! HI-3i--HIe IS &1 JdaTeH
forar

Options :




1. % IR
2. % g3
3. ¢ Wz uic
4. % [qERT

Question Number : 70 Question Id : 2752286305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In April 2020, which country announced a relief package of $2.9 million to India as relief for the coronavirus pandemic?
Options :

1. # China

2. % United Kingdom

3. % United States of America

4, % Australia

Question Number : 70 Question Id : 2752286305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2020 H, o5 1 SRIFTEARRY HTHRT & ol M8d & U H YR &1 $2.9 T & 8d Udbsl SI 9Ioun H1?
Options :

1. % i

2. % gARCS fdhireH

3. ¢ g T ARBT

4. % Srfern

~

Question Number : 71 Question Id : 2752286306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On April 7 2020, which state/union territory adopted the 5T (testing, tracing, treatment, teamwork, and tracking) method for curbing the
coronavirus pandemic?

Options :
1. # Chandigarh



2. % Rajasthan
3. ¥ Delhi
4. % Uttar Pradesh

Question Number : 71 Question Id : 2752286306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 3T 2020 B, HRIATATIRY TETHRT TR G- T o oY (59 Ioa/drs RId USRI A ST (SRET, ¢RI, iedie, SHas SR ¢fd)
UGd & SO 87

Options :

1. % JUSNIG
2. % ST/
3. ¢ faeit

4. % ITRUSH

Question Number : 72 Question Id : 2752286307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, which one of the following is not mentioned in the Preamble to the Constitution of India?
Options :

1. % Justice

2. ¥ Peace

3. % Equality

4. % Liberty

Question Number : 72 Question Id : 2752286307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2020 dp, Fafafad 7 @ feges e HRT TRy &1 IeRier & 7 fear mr g2
Options :

1. % g



2. gifd
3. % gHMET
4. % IgdAdl

Question Number : 73 Question Id : 2752286308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, the membership of the Rajya Sabha contains a provision for how many nominated members?
Options :

1. #® 20

2.¥ 12

3. % 16

4, % 18

Question Number : 73 Question Id : 2752286308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 2020 TP, I B! a1 & fopd- AITEd el & fore urae™ g2
Options :

1. % 20

2.¥ 12

3. % 16

4, % 18

Question Number : 74 Question Id : 2752286309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In India, as of April 2020, which one of the following taxes is levied at both the central and the state level?
Options :

1. # Excise duty

2. % Goods and Service Tax

3. % Basic customs duty



4. % Qctroi

Question Number : 74 Question Id : 2752286309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRA U, 30 2020 T, FHfIRad H T &9 1 HR g 3R I SHT TRI IR T ST 82
Options :

1. % 3G Yo

2. ¥ T U4 Yal R

3. % o I Yeh

4. % TR YD (AHAI3)

Question Number : 75 Question Id : 2752286310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, which one of the following languages is not a part of the Eighth Schedule to the Constitution of India?
Options :

1. ¥ Tulu

2. # Sindhi

3. ® Sanskrit

4. % Urdu

Question Number : 75 Question Id : 2752286310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 2020 T, fFafRad # § S I U URA & TfAUT BT TS ST BT U el 82

Options :
1.¥dJg
2. % i
3. % YIhd
4. % 3G



Question Number : 76 Question Id : 2752286311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, who is the highest wicket-taker in one day international in women's cricket?
Options :

1. % Ellyse Perry

2. % Catherine Fitzpatrick

3. ¥ Jhulan Goswami

4. % Marizanne Kapp

Question Number : 76 Question Id : 2752286311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fU 2020 TP, Higell fobare H Th feaeiiy Siaxrgia # oy i fadbe o arell Raars! o1H &
Options :

1. % Tl ot

2. % FH freoufes

3. ¢ o TRarHt

4. % HIRSH

Question Number : 77 Question Id : 2752286312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of April 2020, which one of the following teams has never won the Indian Premier League (IPL)?
Options :

1. # Rajasthan Royals

2. ¥ Royal Challengers Bangalore

3. # Kolkata Knight Riders

4. % Mumbai Indians

Question Number : 77 Question Id : 2752286312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

30 2020 I, Fgfafed 7 ¥ o1 B A 3 $fe iR < apr) &+ 78T Sidt 82
Options :

1. % O g™

2. ¢ T daiord STAR

3. % PHIABIAI IS 58T

4. % T9s Sfedq

Question Number : 78 Question Id : 2752286313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following was the venue for the first edition of the Commonwealth Games in 19307
Options :

1. ¥ Hamilton, Canada

2. # Kuala Lumpur, Malaysia

3. ¥ London, England

4. ¥ Sydney, Australia

Question Number : 78 Question Id : 2752286313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad 7 3 19 91 1930 H APHST Well & gl IXHUT b oIl e Y12
Options :

1. ¢ BffeeH, Bl

2. % BT TR, HARMT

3. % dad, 3AUS

4. % s, sirecferan

Question Number : 79 Question Id : 2752286314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which of the following games a player can also be called a raider?
Options :

1. # Hockey

2. % Wrestling

3. # Volleyball

4. ¢ Kabaddi

Question Number : 79 Question Id : 2752286314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea o 9 fog Td A te Rars) o1 Yer i w81 o1 Iodr 82
Options :

1. % gl

2. % BRI

3. % graitaical

4. ¥ DHAgl

Question Number : 80 Question Id : 2752286315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amongst the following, who was the first person to score a century for India in Test cricket?
Options :

1. ¥ Lala Amarnath

2. # Lalchand Rajput

3. ® Dilip Vengsarkar

4. % Sunil Gavaskar

Question Number : 80 Question Id : 2752286315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafad 7 3, 2 fhdpe & YRA & oI Ide S 9TelT Ugll S pie Y12




Options :

1. ¢ ATl ST

2. % Qereie Iogd

3. % faollT dRR&HR
4. % IS TMAHR
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Question Number : 81 Question Id : 2752286316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The greatest number of four digits which is divisible by 24, 36 and 50 is
Options :

1. % 8400

2. % 9560

3. ¥ 9000

4. % 8964

Question Number : 81 Question Id : 2752286316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IS1 TR 3fb T AT I 24, 36 3R 50 T faUrT 3, 98 gl
Options :

1. # 8400

2. % 9560

3. ¥ 9000

4. %= 8964

Question Number : 82 Question Id : 2752286317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the product of two numbers is 3000 and their LCM is 300, then the HCF is
Options :

1.4 10

2. %100

3. % 50

4. % 40

Question Number : 82 Question Id : 2752286317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g &l =TS BT UHTE 3000 § SR 76T TYTH THTAAS 300 §, ) HedH IHIddS gl

Options :
1.4 10
2. % 100
3. % 50
4. % 40

Question Number : 83 Question Id : 2752286318 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 120 +[ 18 - {20-3 x (19-15) } |=
Options :

1. = 14

2.% 12

3. %8

4. % 16

Question Number : 83 Question Id : 2752286318 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬁ 120+[18-{20-3x(19-15)} | =
Options :

1. % 14

2.9 12

3.% 8

4. % 16

Question Number : 84 Question Id : 2752286319 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

If a rectangular courtyard is 20 m 2 cm long and 26 m 18 cm broad and it is to be furnished with square tiles of the same size, then the least



possible number of tiles is
Options :
1. % 221
2. % 632
3. % 345
4. % 481

Question Number : 84 Question Id : 2752286319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife T IATHR 3T 20 m 2 cm AST 3R 26 m 18 cm AST § 3R Y A ATHR b I <5eT I BT fHA T 8, A <5 B! Ja
TIaH GHad G gl

Options :

1. 221

2. % 632

3. % 345

4. % 481

Question Number : 85 Question Id : 2752286320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a ceiling fan is Rs. 960. During off-season, if it is sold for Rs. 816, then the discount is Rs.
Options :

1. % 124

2.9 144

3. % 150

4. % 156

Question Number : 85 Question Id : 2752286320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B 1 Fafed T 960 ¥UT B | SHTH-ToH & SR, Afe 39 816 TUY H 991 91T 7, <1 Be FUTE|



Options :
1. % 124
2.9 144
3. % 150
4. % 156

Question Number : 86 Question Id : 2752286321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the mean of 20 observations is 40 and that of another 30 observation is 32. Then the mean of all 50 observations is
Options :

1. % 31.3

2. % 33,6

3. % 348

4.9 352

Question Number : 86 Question Id : 2752286321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M 20 TG BT HIH 40 7 SR 3= 30 SHTAIB! BT 1L 32 81 Al GHY 50 STADBAI BT HILH gl
Options :

1. #® 313

2. % 33,6

3. % 348

4.9 352

Question Number : 87 Question Id : 2752286322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price on a bicycle was Rs. 4000 but the shopkeeper offered a double discount of 20 percent and 15 percent. How much did he finally
sell the bicycle for?

Options :



1. * Rs. 2300
2. ® Rs. 3600
3. ¥ Rs. 2720
4. % Rs. 5700

Question Number : 87 Question Id : 2752286322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Treferd IR fafed T 4000 TUT 2t Al goHTER = 20 UfA=rd 3R 15 UfA=d &1 e ge < 3T SRR & Arsford &1 fosa & s
Options :

1. # 2300 ®UU¢

2. % 3600 %UU¢

3.9 2720%UC

4, % 5700 %UU

Question Number : 88 Question Id : 2752286323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 40 percent of a = b, then b percent of 40 is the same as
Options :

1. % 4 percent of a

2. % 8 percent of a

3. % 14 percent of a

4. ¥ 16 percent of a

Question Number : 88 Question Id : 2752286323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
M a = b BT 40 UIRTA @, Al 40 BT b Ff=Td & qAH B

Options :

1. % 3 B4 UdRd



2. % o P8 YA
3. % 5 P 14 Ufa=Id
4. 2P 16 UARd

Question Number : 89 Question Id : 2752286324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much is 30 percent of 50 greater than 20 percent of 30?
Options :

1. %5

2.¥9

3.% 4

4. % 1

Question Number : 89 Question Id : 2752286324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 T 30 UTIRId, 30 & 20 Tf=Td ¥ fhe 31 82
Options :

1. %5

2.¥9

3.% 4

4, % 1

Question Number : 90 Question Id : 2752286325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 50 students 30 percent are boys. 80 percent of girl students passed an exam conducted for the whole class. What is the number of
female students who passed the exam?

Options :
1. # 35
2.9 28



3. % 25
4. = 31

Question Number : 90 Question Id : 2752286325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

50 BT B U D& H 30 UTIRIT TSP & | T3 e b forg ot 78 utenm & 8o wfa=rd sensit 7 ustern I<iiof o1 | wten & 3<hol g9 areft afgen
B Bt I fba! g2

Options :

1. % 35

2. ¥ 28

3. % 25

4, % 3]

Question Number : 91 Question Id : 2752286326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a number is increased by 30 percent and then decreased by 20 percent, then the net increase or decrease percentis  percent.
Options :

1.9 4

2.% 3

3.% 2

4. % 1

Question Number : 91 Question Id : 2752286326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fpddt Ter & 30 Ufa=rd &1 gfg &1 St 8 SfiR {20 TfoRd Y g 9T g, A Y fc T HHT ufavd . ufomid g
Options :

1.¥ 4

2.% 3

3.% 2




4. % 1

Question Number : 92 Question Id : 2752286327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An article bought for Rs. 500 is sold at a profit of 20 percent. Find its selling price.
Options :

1. % Rs. 400

2. % Rs. 300

3. ¥ Rs. 600

4. % Rs. 500

Question Number : 92 Question Id : 2752286327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

500 T H WL T8 Ueb TG BT 20 YI=I & ATH TR T ST B | 391 [Ashd e 31 e |
Options :

1. % 400>

2. % 300 >4

3. ¥ 600 ¥UU

4. % 500U

Question Number : 93 Question Id : 2752286328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man sold a fan for Rs. 430. Find the cost price if he incurred a loss of 14 percent.
Options :

1. ¥ Rs. 500

2. % Rs. 400

3. ¥ Rs. 300

4, % Rs. 200



Question Number : 93 Question Id : 2752286328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH SMGHT 7 430 ¥UL H T UKW &I 91| Tl I 14 U= &1 g1 8% ol AT Jed 1 D |
Options :

1. ¥ 500 %4UUQ

2. % 400%4UUQ

3. % 300%4UQ

4. % 200U

Question Number : 94 Question Id : 2752286329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soham purchased an old scooter for Rs. 24000 and spent Rs. 2850 on its repairs. Then, he sold it to his friend Roshan for Rs. 27720. How much
percent did Soham gain or lose?

Options :

1. # 2.14 percent loss
2. % 3.27 percent gain
3. ¥ 3.24 percent gain
4. % 4,18 percent loss

Question Number : 94 Question Id : 2752286329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EH = Ueh TRMT Tpex 24000 TUY H WT SR STHT FRIA TR 2850 TUY W {hT | bR, 3T 30 R IRH B 38 27720 IUL A 97
fear| Tien &1 faram ufa=rd oy a1 g1+ §32

Options :

1. % 2,14 gfa=ra g1
2. % 327 Ufa=rd oy
3. ¢ 3.24 UfARd Yy
4. % 418 gfa=rd g4



Question Number : 95 Question Id : 2752286330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The third proportional to 0.16 and 0.4 is
Options :

1. # 0.55

2. % 0.85

3.¢ 1

4. % 2

Question Number : 95 Question Id : 2752286330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.16 3R 0.4 & forQ T FHTIOTR gl
Options :

1. ® 0.55

2. % 0.85

3.¢ 1

4. %2

Question Number : 96 Question Id : 2752286331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the school library, the ratio of Science books to Social studies books is the same as the ratio of Social studies books to Math books. If there are
900 books of Science and 600 books of Social studies, find the number of books on Math?

Options :
1. * 100
2. % 200
3. % 300
4.+ 400



Question Number : 96 Question Id : 2752286331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faITerd & Q&iepTerg H AR o1 qRcicb] bl HHTTSTeh S{EAT 1 Giep| & SIIUTd T8I ¢ il ATHTISID ST b1 YRcTeb! b TIIOT bl b
T 3UTd g | TS faH o1 900 G 3R FHITE 31eqg T 600 JXAD &, ol IO B Joeh! B ST J1d PifoTd?

Options :

1. % 100

2. % 200

3. % 300

4. % 400

Question Number : 97 Question Id : 2752286332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gets 5 times as much money as B gets, B gets only Rs. 25 more than what C gets. The three get Rs. 675 in all. Find the share of B?
Options :

1. # Rs. 140

2. % Rs. 200

3. ¥ Rs. 100

4. * Rs. 120

Question Number : 97 Question Id : 2752286332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AP, B! e arelt AR 5 771 4% a8, B B dbad ¢ oI fo1a-1 firerdr 8 S99 253Ut $1fies fied g1 91 &t oa firamas 675
S fied 81 B &1 iR 1d 692

Options :

1. % 140 3¥UU

2. % 200 37U

3. ¥ 100 3UU

4. % 120374



Question Number : 98 Question Id : 2752286333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following two ratios is not in proportion?
Options :

1.%¥ 1:5and3:15

2. % 13:39and 25:75

3.% 4:12and 9 : 27

4.9 24 :28 and 36 : 48

Question Number : 98 Question Id : 2752286333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad g srauTdl § ¥ &1 11 3 guTd | 81 87
Options :

1% 1:53R3:15

2. % 13:39 3R 25: 75

3.% 4:1238R9:27

4.9 24 :28 3R 36 : 48

Question Number : 99 Question Id : 2752286334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

You have Rs. 3600 in your account and the interest rate is 5 percent per annum. After how many years would you earn Rs. 360 as simple interest?
Options :

1. # 1 year

2. ¥ 2 year

3. % 3 year

4. # 4 year

Question Number : 99 Question Id : 2752286334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3{TAe WTd T 3600 FUT & 3R TS &2 Ul I8 5 Uf=Id g | fara auf o 916 319 QYR STl & T J 360 FUY U Bl
Options :

1. %199

2.¢ 294

3.% 394

4. % 499

Question Number : 100 Question Id : 2752286335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

David borrows Rs. 9500 from a bank. Find the amount to be paid by him at the end of 4 years at the rate of 7 percent per annum simple interest.
Options :

1. ® Rs. 1216

2. ¥ Rs. 12160

3. ¥ Rs. 12170

4. % Rs. 1217

Question Number : 100 Question Id : 2752286335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁgagwﬁﬁ9soowamml4atf$&i‘dﬁ,7qﬁmﬁqﬁaﬁﬁa¥@rwwwlw%@uﬁdﬂ%mwﬁaﬁaﬁm
AT HR |

Options :

1. % 1216 37T

2. ¥ 12160 ¥UY

3. % 12170 UY

4, % 121734

Arithmetic Ability2



Group Number : 6

Group Id : 275228228
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 275228330
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228395
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752286336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest on Rs. 6660 at 7 2 percent per annum for 8 months is Rs.
Options :

1. % 222

2.9333

3. % 444

4. % 555



Question Number : 101 Question Id : 2752286336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 Hg I & forg ufcl v 7 14 Tfi=Id TR 6660 FUT TR HIYRUT ST TG
Options :

1. % 222

2. % 333

3. % 444

4. % 555

Question Number : 102 Question Id : 2752286337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on principal amount of Rs. 20000 for 2 years at 11 percent per annum compounded annually is Rs.
Options :

1. % 4142

2. % 4442

3. ¥ 4642

4. % 4842

Question Number : 102 Question Id : 2752286337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 aY & forg ufaad 11 Ufa=Td TR 20000 $UT & oA TR TG Ashdis 61 X1 ah gl STel FUT G|
Options :

1. % 4142

2. % 4442

3. % 4642

4. % 4842



Question Number : 103 Question Id : 2752286338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If Sonam travelled at 28 km/hr instead of 20 km/hr, she would have travelled 40 km more in the same time. The actual distance travelled by her is

Options :

1. % 100 km
2. % 470 km
3. % 900 km
4. % 540 km

Question Number : 103 Question Id : 2752286338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Zﬁ%@ﬂﬂzgknﬂhrémzs kvhr & I R, A G FAHM FHT H 40 km 31EIeb A DA | SHb GRT TG bl 7T AP G
|

Options :

1. ¥ 100 km

2. % 470 km

3. % 900 km

4. % 540 km

Question Number : 104 Question Id : 2752286339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car running at 55 km/hr takes one hour to cover a certain distance. If the speed is increased by 25 km/hr then in how much time it will cover
the distance?

Options :

1. # 44 mins

2. % 42.25 mins
3. % 41.25 mins
4. % 40 mins



Question Number : 104 Question Id : 2752286339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

55 km/hr TR I aTell R I U I g3t a9 HR- J T °¢ BT G AT ¢ | IS 71l BT 25 kmn/hr T TGTIT ST § A g foba 90T &
g G I HRAN?

Options :

1. % 44 e

2. % 4225 e

3. ¢ 41.25 e

4. % 40 e

Question Number : 105 Question Id : 2752286340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is twice as fast as B and B is thrice as fast as C. The journey covered by C in 48 minutes will be covered by A in
Options :

1. # 4 min

2. % 8 min

3. ¥ 6 min

4, % 2 min

Question Number : 105 Question Id : 2752286340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A,BUETATAS 8 3R B, C AT AT A 81 48 e & ¢ gRI GG &1 T8 TN T A GRI T &I S|
Options :

1. % 4 e

2. ¢ g fie

3. % ¢ e

4. % 2 e



Question Number : 106 Question Id : 2752286341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a factory produces 24 bicycles in a day, how many bicycles will be produced in 4 days?
Options :

1. ¥ 96

2.% 6

3.% 24

4. % 4

Question Number : 106 Question Id : 2752286341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS T o] U fa | 24 WIEfdhdl &I I Bl 7, dl 4 fei H fpa-t wrsfaral o1 Sare forar S
Options :

1. ¥ 96

2. % 6

3.% 24

4. % 4

Question Number : 107 Question Id : 2752286342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 15 men take 50 days to complete a job, then in how many days can 25 men complete the job?
Options :

1. ® 60

2. % 750

3.9 30

4. % 75

Question Number : 107 Question Id : 2752286342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T HTH DI R I & AT 15 SATGIHAT BT 50 T 7 §, 1 25 3MeH [ a1 & & -1 R 9hd 62
Options :

1. % 60

2. % 750

3.9 30

4. % 75

Question Number : 108 Question Id : 2752286343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A, B and C together can complete a work in 40 minutes and if A and B together can complete the same work in 60 minutes, then how long will
C take working alone to complete that work?

Options :

1. # 60 minutes
2. ¥ 120 minutes
3. % 180 minutes
4. #® 240 minutes

Question Number : 108 Question Id : 2752286343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A, B 3R C FIAHR T BRI 1 40 e T T HR Favd g IR Al A 3R B HAH THH HR &1 60 T T R IR THhd 8, A1 C B
3{ha I B Bl I H3A H a1 T80 T

Options :

1. % 60 e
2. 120 fHAC
3. % 180 fiFe
4. % 240 fiFe

Question Number : 109 Question Id : 2752286344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ram can do a piece of work in 12 days and Laxman can do it in 6 days. In how many days they will be do the same work together?
Options :

1.¥ 4

2.%6

3.% 8

4. % 10

Question Number : 109 Question Id : 2752286344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 12 &1 5 T BRI IR Tovdl & 3R AEHUT 6 &1 H 98 R Gobal § | d I1 SR T 61 B B! fha &A1 & pa
Options :

1.¥ 4

2.% 6

3. % 8

4. % 10

Question Number : 110 Question Id : 2752286345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An open cylindrical tank is to be painted from inside and outside. The diameter of the container is 42 cm and its height is 60 cm. What is the area
that is to be painted?

Options :

1. * 16782 square unit
2. % 16854 cubic unit
3. % 12564 square unit
4. ¥ 18612 cubic unit

Question Number : 110 Question Id : 2752286345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP Gall TAIHR ¢! 3ER 3R 8- F TN ST § | T BT T 42 cm § 3R FUD! $ATS 60 cm § | T8 DI 41 &AHA ¢ o I ST 62
Options :

1. % 16782 91 3BT

2. % 16854 GG SHIs

3. % 12564 T SP15

4. 18612 91 SH18

Question Number : 111 Question Id : 2752286346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a polyhedron has 4 faces and 8 edges, then the number of vertices of that polyhedron is:
Options :

1. % 4

2.¥6

3.% 8

4. % 10

Question Number : 111 Question Id : 2752286346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Th IgHad H 4 Had 3R 8§ fHIR 8, A1 3 Sghad & NN &I IBH 6:
Options :

1. % 4

2.¥6

3. % 8

4. % 10

Question Number : 112 Question Id : 2752286347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Suhana packs gifts in 10 cubical boxes. The dimension of each cubical box is (20 cm x 20 cm X 20 cm). These boxes are to be covered with



glossy paper. If the cost of glossy paper is Rs 5 per square metre, then what is the total cost (in rupees) of covering the boxes with glossy paper?
(Assume no overlap and no wastage.)

Options :
1. % 8
2. %10
3.9 12
4. % 14

Question Number : 112 Question Id : 2752286347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEMT 10 G910 g # SUSR U xall g | T G- e BT 3ATATH (20 cm x 20 cm x 20 cm) § | § S| ] THBER BT § GHh1 ¢ |
e THHER HITS B AT 5 BUT Ufd & HieR §, A THHER BTN Y TR DI o 1 $d AN (FUT H) FT 82 (A [ Bls ffawsiaq
IR B JHUE eI 81

Options :

1. %8

2. % 10

3. ¢ 12

4. % 14

Question Number : 113 Question Id : 2752286348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Use the data in the given table to find the difference between the mode and mean of the data? 'f' is frequency and 'x' is value.

X 5 il 8 9 10
f 4 5 10 3 3
Options :
1. * 0.5
2.9 0.52
3. % 048

4. %04



Question Number : 113 Question Id : 2752286348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & IgaD IR HIH & I SR A B P 17T &l T3 AIMCrpT H ST BT TN B2 ' TRERAT § 3R 'x' T 5

X 5 il 8 9 10

f 4 5 10 3 3

Options :
1. % 0.5
2.9 0.52
3. % 048
4. % 04

Question Number : 114 Question Id : 2752286349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A survey was conducted to find what genre of movies people liked the most. The result of the survey is shown in the given pie chart. If 66 people
liked romantic movies, how many people were surveyed?



Survey of people

Options :
1. % 100
2. % 200
3.¥ 300
4. % 400

Question Number : 114 Question Id : 2752286349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g S & T U Faafur far mar i AT o) fhet &) bl Il Qe T SaTe] U< & | IJ&fuT o7 URumH fau 7T urs ard & gxifar
21 31S 66 AT BT AAT! fhed Uie &, af fod- Tl o1 aeror favam T U




I BT FAET

Options :
1. % 100
2. % 200
3. % 300
4. % 400

Question Number : 115 Question Id : 2752286350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the time taken in 7 different processes A1, A2, A3, A4, A5, A6 and A7 in making a car as a percentage of total
time taken. The total time taken in making one car is 1100 hours. What is the difference between the time taken in processes A3 and A4?



Time taken in making a car

Options :

1. #® 96 hours
2. % 72 hours
3. % 123 hours
4. % 132 hours

Question Number : 115 Question Id : 2752286350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
+ra fean ma ors 91, SR 99 7 ol ufesansii A1, A2, A3, A4, A5, A6 3R A7 T U T 990 &1 $d 90T & U= & =0 & g=iiar
81 U BR g H form 71 & I8 1100 © 71 Ufshanatt A3 3R A4 H e 7o gva & aam iR 382




Options :

1. % 96 °C
2. % 726C
3. % 123°C
4. ¥ 1324¢

Question Number : 116 Question Id : 2752286351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The favourite flavours of ice-cream for the children in a locality are given in percentage in the given pie chart.
Observe the pie chart and answer the following question:

What will be the central angle in degrees of the sector corresponding to vanilla?



Central angle of the sector

Options :
1. % 120
2. % 110
3.¥ 108
4. % 130

Question Number : 116 Question Id : 2752286351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e o =1 H, U 3o H o=l & T Sy & uddier waiaR & ufawid | flear man |
g =1¢ ol Rl o3 iR Fafafad uy 1w &

AT & 3=y & w1 et & et Piur s g



Options :
1. % 120
2. % 110
3.¥ 108
4. % 130

Question Number : 117 Question Id : 2752286352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given histogram shows the amount spent on auto fare daily by the employees of a certain company. Observe the given histogram and answer
the following question. How many employees spent more than or equal to Rs 90 per day on auto fare?



SRR EER R

MNumber of employees

20
10

0-30 30-80 60-90 90-120 120-150

Amount spent daily on auto fare

Options :
1. % 20
2. % 90
3.4 110
4. % 130

Question Number : 117 Question Id : 2752286352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faar man s v Afda Sut & sl gR1 ufafea sifel farar R T &t 115 I &) gwifdr 81 fou e smaafes &1 e &3
3R Fafafad uy &1 IR & | fobdm wH=iial 3 el f=mar wR U fa= 90 TUT & SRIeR a1 I 3T T fhT 2
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Options :
1. % 20
2. % 90
3.4 110
4. % 130

Question Number : 118 Question Id : 2752286353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given graph shows the monthly budget of a person in rupees. Expenses on food is more than the expenses on rent by percent.



3500 -
3000 -
2500 -
2000 -

1500 -

1500
1000
1000 -
500 500
= L] Al
0

Food Rent Education Saving Miscellaneous

Monthly budget of a person

Expenses

Options :
1. % 250
2. ¥ 500
3. % 80

4. % 200

Question Number : 118 Question Id : 2752286353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fear T I TUT H e Afad & HIRYE Seic Bl ST 8 | HISH R 81 9Tl T {1 & T I yfa=Id Qe g |
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Options :
1. % 250
2. ¥ 500
3. % 80

4. % 200

Question Number : 119 Question Id : 2752286354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The given frequency polygon shows the lifetime of neon lamps. Observe the given frequency polygon and answer the following question. What
is the range of the lifetime of neon lamps?



Frequency

475 525 575 625 675 725 775 825 875

Lifetime of neon lamps

Options :
1. # 650
2. % 850
3. % 500
4.+ 350

Question Number : 119 Question Id : 2752286354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T IRERAT 9gYS A U & HRISTd B GATdl 8| faU TU IRaRdT IgY &1 FRIE &3 3R FHafaRad uy &1 3w ¢ | e ol
& BB ST T T 52
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Options :
1. # 650
2. % 850
3. % 500
4. ¥ 350

Question Number : 120 Question Id : 2752286355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given histogram represents the marks scored by a group of students in a Math test. How many students scored 70 marks or more?



MNumber of students

O = MW B W0 M s @ W
[ RN N R N |

0-10 10-20 20-30 30-40 &0-50 50-60 60-70 70-80 B50-90 90-100
Marks scored

Options :
1. %6
2. % 7
3.% 8
4.¥9

Question Number : 120 Question Id : 2752286355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T mar St e M udien § S & Y §RT IR U T 3id! oY gxifdr g1 fovam St A 70 31 a1 3N 31fie 3 I fpu?
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Options :
1. % 6
2. % 7
3. %8
4.¥9

General English1
Group Number : 7
Group Id : 275228229
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General English1

Section Id : 275228331
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228396
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752286356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Large Hadron Collider (1)/ is the worlds' largest and (2)/ most powerful particle accelerator. (3)/ No Error (4)
Options :

1. * The Large Hadron Collider

2. ¥ is the worlds' largest and

3. * most powerful particle accelerator.

4. % No error

Question Number : 121 Question Id : 2752286356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Large Hadron Collider (1)/ is the worlds' largest and (2)/ most powerful particle accelerator. (3)/ No Error (4)
Options :
1. #* The Large Hadron Collider



2. ¥ is the worlds' largest and
3. % most powerful particle accelerator.

4. % No error

Question Number : 122 Question Id : 2752286357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In spite of belonging (1)/ from a opportunity laden environment, (2)/ he could barely make a name for himself. (3)/ No Error (4)
Options :

1. #* In spite of belonging

2. % from a opportunity laden environment,

3. * he could barely make a name for himself.

4, % No error

Question Number : 122 Question Id : 2752286357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

In spite of belonging (1)/ from a opportunity laden environment, (2)/ he could barely make a name for himself. (3)/ No Error (4)
Options :

1. * In spite of belonging

2. % from a opportunity laden environment,

3. #* he could barely make a name for himself.

4. % No error

Question Number : 123 Question Id : 2752286358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



Despite being a hard worker, (1)/ his erroneous nature mostly (2)/ yielded non fruitful results. (3)/ No Error (4)
Options :

1. % Despite being a hard worker,

2. # his erroneous nature mostly

3. % yielded non fruitful results.

4. % No error

Question Number : 123 Question Id : 2752286358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Despite being a hard worker, (1)/ his erroneous nature mostly (2)/ yielded non fruitful results. (3)/ No Error (4)
Options :

1. % Despite being a hard worker,

2. # his erroneous nature mostly

3. % yielded non fruitful results.

4. % No error

Question Number : 124 Question Id : 2752286359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Judiciary system of India upheld (1)/ its integrity and the constitutional values (2)/ time and time again. (3)/ No Error (4)
Options :

1. ¥ The Judiciary system of India upheld

2. # its integrity and the constitutional values

3. #* time and time again.

4. % No error

Question Number : 124 Question Id : 2752286359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The Judiciary system of India upheld (1)/ its integrity and the constitutional values (2)/ time and time again. (3)/ No Error (4)
Options :

1. ¥ The Judiciary system of India upheld

2. # its integrity and the constitutional values

3. # time and time again.

4. ® No error

Question Number : 125 Question Id : 2752286360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The recession had brought (1)/ in many to the streets in protest (2)/ against the authoritarian government. (3)/ No Error (4)
Options :

1. # The recession had brought

2. % in many to the streets in protest

3. % against the authoritarian government.

4. % No error

Question Number : 125 Question Id : 2752286360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The recession had brought (1)/ in many to the streets in protest (2)/ against the authoritarian government. (3)/ No Error (4)
Options :

1. # The recession had brought

2. % in many to the streets in protest

3. # against the authoritarian government.

4. % No error



Question Number : 126 Question Id : 2752286361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(An absurd ridiculous idea troubled him everywhere); the thought of restarting his life from scratch, moving away and not leaving a trace behind
was a battle he was fighting with himself.

Options :

1. ¥ An absurdly ridiculous idea troubled him everywhere

2. % An absurdly ridiculous idea trouble him everywhere

3. % An absurdly and ridiculously idea troubled him everywhere

4. ¥ No corrections required

Question Number : 126 Question Id : 2752286361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(An absurd ridiculous idea troubled him everywhere); the thought of restarting his life from scratch, moving away and not leaving a trace behind
was a battle he was fighting with himself.

Options :

1. ¥ An absurdly ridiculous idea troubled him everywhere

2. % An absurdly ridiculous idea trouble him everywhere

3. * An absurdly and ridiculously idea troubled him everywhere

4. # No corrections required

Question Number : 127 Question Id : 2752286362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.



(Embryonic stem cell studies are controversial because) the embryos are discarded once the cells are extracted from them.
Options :

1. ® Embryonic stem cell studies are controversial with

2. % Embryonic stem cell studies are controversial for

3. ¥ Embryonic stem cell studies are controversial over

4. ¥ No corrections required

Question Number : 127 Question Id : 2752286362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Embryonic stem cell studies are controversial because) the embryos are discarded once the cells are extracted from them.
Options :

1. # Embryonic stem cell studies are controversial with

2. % Embryonic stem cell studies are controversial for

3. % Embryonic stem cell studies are controversial over

4. ¥ No corrections required

Question Number : 128 Question Id : 2752286363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He found it extremely hilarious, (a honest man’s controversial mistake).
Options :

1. ¥ the honest man’s controversial mistake

2. # the honest mans’ controversial mistake

3. # an honest mans’ controversial mistake

4. ® No corrections required



Question Number : 128 Question Id : 2752286363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

He found it extremely hilarious, (a honest man’s controversial mistake).
Options :

1. ¥ the honest man’s controversial mistake

2. # the honest mans’ controversial mistake

3. % an honest mans’ controversial mistake

4. # No corrections required

Question Number : 129 Question Id : 2752286364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He barely broke a cold sweat even in) that insanely intense workout regime.
Options :

1. ¥ He barely broke a sweat even with

2. # He had barely broken a cold sweat even in

3. % He barely broke a cold sweat even with

4. ¥ No corrections required

Question Number : 129 Question Id : 2752286364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(He barely broke a cold sweat even in) that insanely intense workout regime.



Options :

1. ¥ He barely broke a sweat even with

2. # He had barely broken a cold sweat even in
3. % He barely broke a cold sweat even with

4. ¥ No corrections required

Question Number : 130 Question Id : 2752286365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Narendra Modi's as Prime Minister was the ex Finance Minister Dr. Manmohan Singh.

Options :

1. # viability

2. ¥ predecessor
3. # successor

4. * ruminate

Question Number : 130 Question Id : 2752286365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Narendra Modi's as Prime Minister was the ex Finance Minister Dr. Manmohan Singh.

Options :

1. # viability

2. ¥ predecessor
3. % successor

4. % ruminate

Question Number : 131 Question Id : 2752286366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with appropriate word.

Ina order, he listed down all the events which led to the series finale.
Options :

1. # prelogical
2. ¥ chronological
3. % liturgical

4. # analogical

Question Number : 131 Question Id : 2752286366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

Ina order, he listed down all the events which led to the series finale.

Options :

1. # prelogical

2. % chronological
3. # liturgical

4. * analogical

Question Number : 132 Question Id : 2752286367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

He is further called an epic poet by Kabirdas, and three epigrams in the Indian are assigned to him.

Options :

1. # caucus

2. % anthology
3. % bevy

4. % haul



Question Number : 132 Question Id : 2752286367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

He is further called an epic poet by Kabirdas, and three epigrams in the Indian are assigned to him.

Options :

1. # caucus

2. ¥ anthology
3. % bevy

4. % haul

Question Number : 133 Question Id : 2752286368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

He is trying to be the heavy metal guitarist by wearing black clothes, having unkempt hair and getting lots of tattoos.

Options :

1. # quinquennial
2. ® parricide

3. ¥ quintessential

4. # sesquipedalian

Question Number : 133 Question Id : 2752286368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with appropriate word.

He is trying to be the heavy metal guitarist by wearing black clothes, having unkempt hair and getting lots of tattoos.

Options :
1. # quinquennial

2. % parricide



3. ¥ quintessential

4. * sesquipedalian

Question Number : 134 Question Id : 2752286369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Ravindra Kaushik also known as “Tiger” was born into a modest family on 11th April 1952 in Sri Ganganagar, Rajasthan.

P. Once while performing during his college days, he was approached by a RAW agent who offered him a chance to serve his country by joining
RAW and becoming an intelligence agent.

Q. He took up the opportunity and joined Raw as soon as he finished his college and started working as an Undercover Agent in Pakistan
providing valuable and confidential information to India.

R. Growing up, he witnessed the Indo-Pak war between 1965 and 1971 and this lit a patriotic fire in his heart to serve for his country.

S. He finished his schooling from a government college in Ganganagar and attended a private college, where he picked up his knack for acting;
subsequently becoming famous for his acting.

He was eventually caught by the Pakistani Army and was tragically incarcerated by Pakistani government.
Options :

1. # RQSP

2. ¥ RSPQ

3. % SPQR

4. % RSQP

Question Number : 134 Question Id : 2752286369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

Ravindra Kaushik also known as “Tiger” was born into a modest family on 11th April 1952 in Sri Ganganagar, Rajasthan.

P. Once while performing during his college days, he was approached by a RAW agent who offered him a chance to serve his country by joining
RAW and becoming an intelligence agent.



Q. He took up the opportunity and joined Raw as soon as he finished his college and started working as an Undercover Agent in Pakistan
providing valuable and confidential information to India.

R. Growing up, he witnessed the Indo-Pak war between 1965 and 1971 and this lit a patriotic fire in his heart to serve for his country.

S. He finished his schooling from a government college in Ganganagar and attended a private college, where he picked up his knack for acting;
subsequently becoming famous for his acting.

He was eventually caught by the Pakistani Army and was tragically incarcerated by Pakistani government.
Options :

1. ®* RQSP

2. ¥ RSPQ

3. ¥ SPQR

4. % RSQP

Question Number : 135 Question Id : 2752286370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Dr. Freud believes that people with

P. the mirror conclusively proving their

Q. schizophrenia cannot identify themselves

R. in the mirror and try to reach on the other side of
S. inability to distinguish themselves

from their reflection.
Options :

1. ¥ QRPS

2. % QPRS

3. % QPSR

4, % QRSP

Question Number : 135 Question Id : 2752286370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Dr. Freud believes that people with

P. the mirror conclusively proving their

Q. schizophrenia cannot identify themselves

R. in the mirror and try to reach on the other side of
S. inability to distinguish themselves

from their reflection.
Options :

1. ¥ QRPS

2. % QPRS

3. # QPSR

4. % QRSP

Question Number : 136 Question Id : 2752286371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Given that the Indian armed forces

P. have an overwhelming dependence on the Russian defence
Q. equipment, the news that Russia has grounded its

R. entire fleet of MiG 29 aircrafts due to structural

S. defects and subsequently found a large

percentage unsafe to fly, is ominous.
Options :

1. ®* PSQR

2. ®* PQSR

3. ¥ PRSQ



4. ¥ PQRS

Question Number : 136 Question Id : 2752286371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Given that the Indian armed forces

P. have an overwhelming dependence on the Russian defence
Q. equipment, the news that Russia has grounded its

R. entire fleet of MiG 29 aircrafts due to structural

S. defects and subsequently found a large

percentage unsafe to fly, is ominous.
Options :

1. ¥ PSQR

2. % PQSR

3. # PRSQ

4. ¥ PQRS

Question Number : 137 Question Id : 2752286372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The global equilibrium, which had allowed the United States to grow and prosper in virtual isolation since 1815 was gone forever as the result of
a short but shattering war.

P. Notable amongst these possessions was Puerto Rico, the Philippines, and the small island of Guam.

Q. The 1898 Treaty of Paris ending the war gave Cuba its independence and also ceded important Spanish possessions to the United States.

R. In 1898, U.S. domestic support for the independence of Cuba enmeshed the United States in a struggle with Spain over the fate of the island
nation.

S. The decision to aid the Cuban resistance was a major departure from the traditional American practice of liberal nationalism, and the results of
that decision had far-reaching consequences.



With such authority and command, United States was suddenly a colonial power with overseas dependencies.
Options :

1. ¢ RSQP

2. % RSPQ

3. % RPSQ

4. % RQSP

Question Number : 137 Question Id : 2752286372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consist of a set of labelled sentences. Out of four options given, select the most logical order of the sentences which form a
paragraph.

The global equilibrium, which had allowed the United States to grow and prosper in virtual isolation since 1815 was gone forever as the result of
a short but shattering war.

P. Notable amongst these possessions was Puerto Rico, the Philippines, and the small island of Guam.

Q. The 1898 Treaty of Paris ending the war gave Cuba its independence and also ceded important Spanish possessions to the United States.

R. In 1898, U.S. domestic support for the independence of Cuba enmeshed the United States in a struggle with Spain over the fate of the island
nation.

S. The decision to aid the Cuban resistance was a major departure from the traditional American practice of liberal nationalism, and the results of
that decision had far-reaching consequences.

With such authority and command, United States was suddenly a colonial power with overseas dependencies.
Options :

1. ¢ RSQP

2. % RSPQ

3. % RPSQ

4. % RQSP

Question Number : 138 Question Id : 2752286373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below



Emissary

Options :

1. # Nihilist

2. ¥ Representative
3. # Callous

4. % Solecism

Question Number : 138 Question Id
Orientation : Vertical

: 2752286373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Emissary

Options :

1. # Nihilist

2. ¥ Representative
3. # Callous

4. % Solecism

Question Number : 139 Question Id
Orientation : Vertical

: 2752286374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Aggravate
Options :

1. # Pique

2. ¥ Conciliate
3. ¥ Rankle

4. % Incense

Question Number : 139 Question Id

: 2752286374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Aggravate
Options :

1. ¥ Pique

2. % Conciliate
3. % Rankle

4. % Incense

Question Number : 140 Question Id : 2752286375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Juxtapose
Options :

1. # Resemblance
2. # Exult

3. % Collocate

4. % Parasol

Question Number : 140 Question Id : 2752286375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Juxtapose
Options :

1. # Resemblance
2. % Exult

3. % Collocate



4. % Parasol

General English2
Group Number : 8
Group Id : 275228230
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English2
Section Id : 275228332
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228397
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 2752286376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below



Destitute
Options :

1. % Precarious
2. ¥ Prosperous
3. % Penurious
4. # Deficient

Question Number : 141 Question Id : 2752286376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Destitute
Options :

1. # Precarious
2. ¥ Prosperous
3. % Penurious
4. # Deficient

Question Number : 142 Question Id : 2752286377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Bibulous

Options :

1. # Cantankerous
2. % Godly

3. % Sober

4. ¥ Inebriated

Question Number : 142 Question Id : 2752286377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below

Bibulous

Options :

1. # Cantankerous
2. # Godly

3. % Sober

4. ¥ Inebriated

Question Number : 143 Question Id : 2752286378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Conceited

2. % Concieted

3. # Concetied

4. % Conceitied

Question Number : 143 Question Id : 2752286378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Conceited

2. # Concieted

3. % Concetied

4, % Conceitied

Question Number : 144 Question Id : 2752286379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Viviparous

2. # Vivipareous

3. % Viviporous

4. % Viviporeous

Question Number : 144 Question Id : 2752286379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Viviparous

2. # Vivipareous

3. % Viviporous

4. # Viviporeous

Question Number : 145 Question Id : 2752286380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Incorporeal

2. % Incoperal

3. # Incoporeal

4. # Incorpreal

Question Number : 145 Question Id : 2752286380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.



Options :

1. ¥ Incorporeal
2. % Incoperal
3. % Incoporeal

4. # Incorpreal

Question Number : 146 Question Id : 2752286381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Inflamattion

2. # Infammation

3. % Inflammation

4. % Infalmmation

Question Number : 146 Question Id : 2752286381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. # Inflamattion

2. % Infammation

3. ¥ Inflammation

4. % Infalmmation

Question Number : 147 Question Id : 2752286382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Plenipotentiary



2. # Plenpoteniary
3. % Plentpoteniary
4. ¥ Plenpotentiary

Question Number : 147 Question Id : 2752286382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Plenipotentiary

2. # Plenpoteniary

3. % Plentpoteniary

4. ¥ Plenpotentiary

Question Number : 148 Question Id : 2752286383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Chip off the old block

Options :

1. ¥ Resembling one's parents in habit
2. % To show impudent contempt

3. % Persistent in struggle

4. # Complete failure

Question Number : 148 Question Id : 2752286383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Chip off the old block
Options :



1. ¥ Resembling one's parents in habit
2. # To show impudent contempt

3. % Persistent in struggle

4. ® Complete failure

Question Number : 149 Question Id : 2752286384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Bring down the house

Options :

1. ¥ Confession with no holds barred
2. % Burn down the house

3. % Receive applause

4. ¥ Yield in a difficult situation

Question Number : 149 Question Id : 2752286384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Bring down the house

Options :

1. ® Confession with no holds barred
2. % Burn down the house

3. ¥ Receive applause

4. ® Yield in a difficult situation

Question Number : 150 Question Id : 2752286385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom



Give the devil his due

Options :

1. #® To deal with the matter straight

2. ¥ To acknowledge a person's good qualities who is disliked
3. # To do something thoroughly

4. % To prepare for hard work

Question Number : 150 Question Id : 2752286385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

Give the devil his due

Options :

1. # To deal with the matter straight

2. ¥ To acknowledge a person's good qualities who is disliked
3. # To do something thoroughly

4. ® To prepare for hard work

Question Number : 151 Question Id : 2752286386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

To have a hollow leg.

Options :

1. # Under the influence of liquor
2. ¥ To have a large appetite

3. # To have a faint memory

4. % To have a pirate lineage

Question Number : 151 Question Id : 2752286386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom

To have a hollow leg.

Options :

1. ¥ Under the influence of liquor
2. ¥ To have a large appetite

3. # To have a faint memory

4. # To have a pirate lineage

Question Number : 152 Question Id : 2752286387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Lasting only for a short time.
Options :

1. # Inscrutable

2. # Denegation

3. # Sycophant

4. ¥ Transient

Question Number : 152 Question Id : 2752286387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Lasting only for a short time.
Options :

1. % Inscrutable

2. # Denegation

3. % Sycophant



4. % Transient

Question Number : 153 Question Id : 2752286388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Treat a sacred place or thing with violent disrespect.
Options :

1. # Confederacy

2. % Digress

3. % Peculation

4. ¥ Desecrate

Question Number : 153 Question Id : 2752286388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Treat a sacred place or thing with violent disrespect.
Options :

1. # Confederacy

2. % Digress

3. # Peculation

4. ¥ Desecrate

Question Number : 154 Question Id : 2752286389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Whole body of wage earners.
Options :



1. % Nobility
2. # Aristocracy
3. ¥ Proletariat
4. ¥ Dotage

Question Number : 154 Question Id : 2752286389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

Whole body of wage earners.
Options :

1. # Nobility

2. # Aristocracy

3. ¥ Proletariat

4. % Dotage

Question Number : 155 Question Id : 2752286390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below

A rich fabric woven with a raised pattern, typically with gold or silver thread.
Options :

1. # Couvade

2. % Brocade

3. # Cascade

4. % Aubade

Question Number : 155 Question Id : 2752286390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word' for the expressions given below



A rich fabric woven with a raised pattern, typically with gold or silver thread.
Options :

1. ®* Couvade

2. % Brocade

3. #* Cascade

4. * Aubade
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Question Id : 2752286391 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the tourist load in several of the more accessible national
parks and reserves. But serious infrastructural shortcomings have brought us precariously close to a breakdown of the ecosystem*s capacity to
absorb this load. The result is an unsatisfactory tourist experience (and an opportunity to impart conservation values lost), overworked,
pressurized and confused wildlife staff, and occasional man-animal confrontation crises such as man-killing by tigers. Not to speak of the
ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms an ideal —hands-on method of orienting, educating
and winning the hearts and minds of the general public to follow conservation values and concepts. This can only be achieved by communicating
with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an interpretation centre which consists of photographic, written
and audio-visual exhibits supplemented by free or priced literature and a person on hand to answer the queries of visitors. Tourists should be
routed through this facility while their entry permits are being prepared. The general message should be the history of the wildlife refuge as a
conservation microcosm, interesting facts of some of the species it supports, and an explanation of the mechanics of an ecosystem and its
relevance to man, plus codes of conduct specific to the area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in the refuge. In some of our wildlife refuge, very poor
interpretation centres exist while in most, none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife, ecology and
conservation values, who leave the refuge no wiser than when they came in. Leaving behind for good measure the detritus of their presence:
plastic bags, cigarette packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that wildlife guards and rangers
are often diverted from their normal and actual work which is monitoring and managing the wildlife and the ecosystem —and are made to guide
tourists and generally be at the back and call of people, irrelevant to the priorities of the wildlife refuge.

Sub questions



Question Number : 156 Question Id : 2752286392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the cause of unsatisfactory tourist experience in the recent decade in the wildlife tourism?
Options :

1. ¥ Significant infrastructural shortcomings.

2. % Surge in wildlife tourism.

3. # Less accessibility of national parks and reserves.

4. % Human battering of ecosystems.

Question Number : 157 Question Id : 2752286393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the ultimate purpose of encouraging wildlife tourism?
Options :

1. # To increase awareness about wildlife preservation.

2. % To educate people about wildlife.

3. % To win the hearts and minds of the general public over conservational values and concepts.

4. % To involve the general public in maintaining and conserving ecosystems.

Question Number : 158 Question Id : 2752286394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, how can a wildlife refuge educate and impart knowledge to the general public regarding conservation values and
concepts?

Options :

1. ¥ By communicating with the tourists before and during the wildlife visits through interpretation centres.
2. % By overcoming infrastructural shortfalls.

3. # By increasing accessibility of national parks and reserves.

4. ® By closely monitoring the wildlife behaviour and its preservation schemes.

Question Number : 159 Question Id : 2752286395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following given statements is incorrect?
Options :

1. # This past decade has seen an increase in the wildlife tourism that has doubled and tripled the tourism load in many of the several accessible
national parks and reserves.

2. ¥ The reason of an unsatisfactory tourist experience is overworked, pressurized and confused wildlife staff, and occasional man-animal
confrontation crises such as man-killing by tigers.

3. # Interpretations is the method of providing information and knowledge through photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of visitors.

4. # Tt is an important function of wildlife refuges to encourage tourism.

Question Number : 160 Question Id : 2752286396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is actual work of the wildlife guards and rangers?

Options :

1. ¥ To protect, manage and monitor the wildlife refuge and the ecosystem.
2. # To act as a tourist guide for the tourists.

3. # To provide tourists with answers for all their queries on wildlife.

4. ® To inform and make aware about the preservation of the wildlife.

Question Id : 2752286391 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

This past decade has witnessed a surge in wildlife tourism that has doubled and tripled the tourist load in several of the more accessible national
parks and reserves. But serious infrastructural shortcomings have brought us precariously close to a breakdown of the ecosystem*s capacity to
absorb this load. The result is an unsatisfactory tourist experience (and an opportunity to impart conservation values lost), overworked,
pressurized and confused wildlife staff, and occasional man-animal confrontation crises such as man-killing by tigers. Not to speak of the
ecosystem that is being battered by humans.

An important function of wildlife refuges is to encourage tourism. Recognizing that it forms an ideal —hands-on method of orienting, educating
and winning the hearts and minds of the general public to follow conservation values and concepts. This can only be achieved by communicating
with tourists before and during their visits to a wildlife refuge.

This is referred to as —interpretation. Interpretations is properly done by having an interpretation centre which consists of photographic, written



and audio-visual exhibits supplemented by free or priced literature and a person on hand to answer the queries of visitors. Tourists should be
routed through this facility while their entry permits are being prepared. The general message should be the history of the wildlife refuge as a
conservation microcosm, interesting facts of some of the species it supports, and an explanation of the mechanics of an ecosystem and its
relevance to man, plus codes of conduct specific to the area and wildlife and jungles in general. This should be backed up by a cadre of trained
naturalist guides, preferably from the local population, who should accompany the tourists in the refuge. In some of our wildlife refuge, very poor
interpretation centres exist while in most, none exists at all. The result is tourist traffic, which is generally quite ignorant of wildlife, ecology and
conservation values, who leave the refuge no wiser than when they came in. Leaving behind for good measure the detritus of their presence:
plastic bags, cigarette packets, bottle, paper, a lot of which is nonbiodegradable and toxic. Add to this is the fact that wildlife guards and rangers
are often diverted from their normal and actual work which is monitoring and managing the wildlife and the ecosystem —and are made to guide
tourists and generally be at the back and call of people, irrelevant to the priorities of the wildlife refuge.

Sub questions

Question Number : 156 Question Id : 2752286392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the cause of unsatisfactory tourist experience in the recent decade in the wildlife tourism?
Options :

1. ¥ Significant infrastructural shortcomings.

2. # Surge in wildlife tourism.

3. % Less accessibility of national parks and reserves.

4. ¥ Human battering of ecosystems.

Question Number : 157 Question Id : 2752286393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what is the ultimate purpose of encouraging wildlife tourism?
Options :

1. # To increase awareness about wildlife preservation.

2. # To educate people about wildlife.

3. % To win the hearts and minds of the general public over conservational values and concepts.

4. # To involve the general public in maintaining and conserving ecosystems.

Question Number : 158 Question Id : 2752286394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



According to the passage, how can a wildlife refuge educate and impart knowledge to the general public regarding conservation values and
concepts?

Options :

1. ¥ By communicating with the tourists before and during the wildlife visits through interpretation centres.
2. # By overcoming infrastructural shortfalls.

3. # By increasing accessibility of national parks and reserves.

4. ® By closely monitoring the wildlife behaviour and its preservation schemes.

Question Number : 159 Question Id : 2752286395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following given statements is incorrect?
Options :

1. ® This past decade has seen an increase in the wildlife tourism that has doubled and tripled the tourism load in many of the several accessible
national parks and reserves.

2. ¥ The reason of an unsatisfactory tourist experience is overworked, pressurized and confused wildlife staff, and occasional man-animal
confrontation crises such as man-killing by tigers.

3. # Interpretations is the method of providing information and knowledge through photographic, written and audio-visual exhibits
supplemented by free or priced literature and a person on hand to answer the queries of visitors.

4. ® It is an important function of wildlife refuges to encourage tourism.

Question Number : 160 Question Id : 2752286396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is actual work of the wildlife guards and rangers?

Options :

1. ¥ To protect, manage and monitor the wildlife refuge and the ecosystem.
2. % To act as a tourist guide for the tourists.

3. % To provide tourists with answers for all their queries on wildlife.

4. ® To inform and make aware about the preservation of the wildlife.
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Question Number : 161 Question Id : 2752286397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR faeel 7 9, 39 fawed &1 99+ 3 N foba1 & Wi arer It faswed gl
3eTfienT BT Y UTS Ugdldt g |

Options :

1. ® QdpIicid fopd
2. « TRUMe T
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Question Number : 161 Question Id : 2752286397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 2752286398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 162 Question Id : 2752286398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 2752286399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ dgld
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Question Number : 163 Question Id : 2752286399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % dgld

2. % 9¥cUclgc

3. % HTR!

4. ¢ dlgdle

Question Number : 164 Question Id : 2752286400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 165 Question Id : 2752286401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 2752286402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 2752286402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 2752286403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 2752286405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 2752286409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H, IR fowddl 7 9, 39 8! f[dded &1 99 & off [QU U Xea-H & 3 &1 g [ddhed gl |

T 3R IH
Options :

1. % gR 3R gAH
2. TUY 3R IHM
3. % Iy 3R g9
4. % GO AR T

Question Number : 177 Question Id : 2752286413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad we o, IR fadenl O 9, 39 9g! [ddwed &7 9a &< il [GT U Weg-H o 31 &1 qg| [aded 71|

Y 3R I9




Options :

1. # R 3R T
2. ¥ G99 3R IHH
3. % JuY 3R I«
4. % T AR I

Question Number : 178 Question Id : 2752286414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafead uy & IR fabedl & T, 39 fdbeu &1 Tg9 B &Y T d Wit =7 a1 fddbed g

Options :

1. # 3H™Ard
2. % DS
3. % feRmT
4. « TSI

Question Number : 178 Question Id : 2752286414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR ieedl 7 9, 39 f9hcd &1 987 &Y oY Ted TWifell U Tl faeed g |

Options :

1. ® 3H™Ald
2. % PdS
3. % foRm
4. ¥ TSI

Question Number : 179 Question Id : 2752286415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad Uy ¥, aR foswed! & ¥, 39 fdewed &1 999 &< Sl Yed gfcd T =4 arel fddwe 5|
Options :

1. % giyop

2. % fewguf}

3. ¢ Bwan

4. % YA

Question Number : 179 Question Id : 2752286415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad oy o, aR fowedl & 9, 39 faswed &1 999 &1 Sl Yed gfca™ =4 aren fdwe 5|
Options :

1. % gy

2. % fewuit

3. ¢ e

4. % gfauT

Question Number : 180 Question Id : 2752286416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@au&rﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁ@ﬁwﬁﬁww%&aﬂw&mwmﬂéﬂmmwﬁ&@ﬁw
|

Options :

1. % (gIPI) Seg 8l $& BT GRT|

2. ¢ (379) 98 B Tl Bl b g

3. % () A $S HI B BT A 1] Tl

4. % (3MTY) RIT1 8 Ihar g HRT 3R T3

Question Number : 180 Question Id : 2752286416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gaﬁ«r@?ru&rﬁ,aﬁﬁﬁq’fﬁﬁ,wiaqvwmdqdﬁ@Wﬁ%QWQQMa?&leN 3= 3N drad GI-TH BT Jay 331 fqdhed
|

Options :

1. % (D) Oeg o1 $& DRI B

2. ¢ (I79) U8 BT a1 81 gHhaT 5|

3. % () 34 $S HI B BT 0 1] HRaTl

4. % (MU 1 8 Iopall & HRTY 3R T3
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Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 2752286417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRad Uy |, IR fadwedl 7 ¥, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
g8 RIwTR=T Har grm|

Options :

1. % YUY gHHSTd
2. % JYTY HiqhTe
3. ¢ e gadMSGa
4. % T YJPTd

Question Number : 181 Question Id : 2752286417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoRad Uy |, IR fAdwedl 7 ¥, 39 fdded &1 999 &3 o) faT TN 9190 & &1d &1 ol fdeed gl |
gg RwT=r SHar gRm|

Options :

1. % YT gD
2. % JUTT HioHTe
3. ¢ e gdHHGE
4. % JF YdDTd

Question Number : 182 Question Id : 2752286418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawey &1 999 &2 Sl foU T8 arag & fore gy & v &1 9ad o1 [ased ]

3R P13 dTe- Hd SE o) 99T J HRTAT Ugd S|




Options :

1. ¢ dpard
2. % fgmd
3. % FUraTS
4. % faegd

Question Number : 182 Question Id : 2752286418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad vy o, TR fawet § 9, 39 fawey &1 7o &3 S fou T8 arey & e gfy & e &1 9e o1 fdwed g |

3R 5 aTe- [Hd SITE al 95T ¥ HRAad Ugd S|
Options :

1. ¢ Hhard

2. % gy

3. % Fyrard

4. % fqury

Question Number : 183 Question Id : 2752286419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifead uy §, IR eeal 7 9, 39 faw e &1 987 &% ot feu 7T are & foiw ugl & Ve &1 9ad 331 faheu 3|

98 AR BT fobdTe Uedm T avl G gHr Siid T
Options :

1. % gradiy®
2. ¢ RIS
3. % gUidEae
4. % IMYIYdPH

Question Number : 183 Question Id : 2752286419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR eeal 7 9, 39 fawcu &1 987 &% ot feT 7T are & fol uai & Ve &1 9ad 331 fapeu 3|

98 AR BT fohdTe Uedr T avl G gHT Siid T
Options :

1. % gradiy®
2. ¢ RIS
3. % gUidEae
4. % IRHIYdH

Question Number : 184 Question Id : 2752286420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawet § 9, 39 fawey &1 7o &L S Y 91 T Ja 3737 fadheu 3|
Options :

1. % Y ER TH YIHT SUSR & Fifdh g Rl &1 UIST Bl JHS T4

2. % YR TH TaPHT IUGR & RN 1h A GaR| I UTeT IR JH|

3. ¢ Y ER qH 9P IUER ¢ i qH GIR! 1 UTST Dl THe|

4. % JER TH YTPHT IUSR § Il - gOR) B! UIST Bl T

Question Number : 184 Question Id : 2752286420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & aR fawedl § 9, 39 fadmed &1 98 $1 off g a1 T JaY 3w [ddhed 5|
Options :

1. % YR TH TGHT SUSR ¢ FIfb T gl D1 UTST &l T 14|

2. % Y ER IH IIHT IUER & Hifch T GaR| b1 HIST IR THa |

3. ¢ Y ER IH TGP IUGR § b T QORI B! UIST & TH |

4. % YER TH YIHT IUSR g dlfh THA GER] Bt UTST &l THa |

Question Number : 185 Question Id : 2752286421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foffed uy §, IR el 7 9, 39 faweu &1 997 &% St Tal arad U &1 fabeu gl
ST A H3i D1 31e ¥ faar fob IufRid g1 s

Options :

1. % JYad qId

2. ¢ Oy ar

3. % Yogarad didd

4. % I 91

Question Number : 185 Question Id : 2752286421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadweul 7 ¥, 39 fdded &1 999 &3 Il el d1ad He &l f[ddbed gl
ST 3 H B 31e X fear fob Iufid g1 s

Options :

1. % Igod arR

2. ¢ By IR

3. % Hgadd A
4. % I I

Question Number : 186 Question Id : 2752286422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR fowedl 7 9, 39 faweu &1 97 &% St Tgl ara U &1 fasbeu gl
T 3% W IAT A YT IR 379 He T8 gs |

Options :
1. % fqyTTara® ar
2. % I 91




3. % fhg are
4. « GYad qId

Question Number : 186 Question Id : 2752286422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed uy §, IR fowedl 7 9, 39 faweu &1 997 &% St Tgl a1a Ve &1 fawbeu gl
T 3% W IAT A YT R 379 He TS gs |

Options :

1. % fay™arE® a1
2. % WA AT

3. % {9/

4. ¢ g a1

Question Number : 187 Question Id : 2752286423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad us #, IR fasedl | 4, 39 fdced &1 =g o Sl faR1H g ot arer 1 gt fdebed 811
Options :

1. % A HEaIg 8l H IS daal § it d TeRT U WRaT g | T8l dl S U TWRT

2. ¥ AHEdIg - 81, § Yo i g, 3t il TeR1 Ue WRar g | 781 O &I T TR

3. % D HEAIg 8l # o aradl g I+ dl TR U HRT § el al B Ul TR

4. % DHEATE &I, 1 IS Tiadl g, T o TR UT HRdT € T8l o DI AT TR

Question Number : 187 Question Id : 2752286423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeRad vy 9, IR fasedl T 9, 39 fdewed &1 9g 3 off faR19 fag gad a1 &1 Iel fddbed |
Options :

1. % AHgdIg ol H IS diaar g aufl o JeRT U WRaT ¢ | T8 al diF UT TR




2.V AHEATE - 81, § Yo aradr g, Il TeRIUC WRAT g | 781 o DI 4T TR
3. % D HEAIg 8l # o aradl g I+ dl TR U HRT § el al B Ul TR
4. % DHEATE &I, 1 IS Tiadl g, At o TR UT HURT § T8l o DI AT TR

Question Number : 188 Question Id : 2752286424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfead vy #, IR fadbedl | 1, 39 fddbed &1 98 B Sl fav g o a1 &1 gt fdsbed 5|
Options :

1. ¢ AR} ST, "9l I8 g8 T IR 5 817 G ST g HuST 1 ¢ 38 8"

2. % HYR] Il 91 I8 JH T HR e 812 G U1 51 HUST I ¢ 38 817

3. % R} e, "3l I8 H o1 R IR o1 H31 31T &1 HusT i ¢ | 8l

4. % R} ST 9T T8 TH T HR IR 817 T 31T 8 HUST 31 ¢ X8 8

Question Number : 188 Question Id : 2752286424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad vy 8, IR fowedl 4 9, 39 fdded &1 9g- ) ol [k fug e 919 &1 Ual fadbed gl
Options :

1. ¢ I ST, ST T8 g 9T R 38 812 ol 31T &) husT ol & I 810"

2. % TR} SIel, 9T I8 g &1 B 36 o617 Gl ST 81 HUST &1 § 38 81?2

3. % HTOR} ST, "SeT I8 gH 9T B 38 81 {31 3MTeT €1 HUST i ¢ 3@ gl

4. % R I 9T I8 JH 1 AR g 817 ol ST 8 HUSI I ¢ 38 8l

Question Number : 189 Question Id : 2752286425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O 4, 39 fawed &1 99+ &< SN [aR1 foig god a1 &1 Aot fdded gl |
Options :

1. ¢ P AT Uh QAT TS, YiA-U, g g &1 fobdTa 31 off|

2. % TP ATAT U AT, TSt YRITS s dve &1 fhdrs offe off




3. % 3P IATAT U AT ge! ol U Fg e P! fdhare 3f1fa off]
4. % 3P I U AT TSt Y U s a8 Dt fvars onfe off

Question Number : 189 Question Id : 2752286425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fowed! & 1, 39 fdewed &1 99+ &< il fav1 g god a1 &1 Jal fadhed 5l
Options :

1. ¢ TP QA U R, T3, fo-U, B aRg B! fbars e |

2. % TP AT U AT, TSt YITH g e & [obdTs 3ffe o

3. % TP 3fATAT U RAAHT Ut i U g e &1 fobdTs 3T ]

4. % P A U R el Y UF s a8 Bt fhars ofe off

Question Number : 190 Question Id : 2752286426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed Uy & IR fawedl § 9, 39 fadmed &1 78 &1 off U T gTar &1 Te o aran fawed g
TN BT Y

Options :

1. % YR Y 30U a7 T HAl

2. % §gd graX

3. ¢ T Al

4. % 9B

Question Number : 190 Question Id : 2752286426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Uy & IR fawe § 9, 39 fawey &1 7 &% off fau 7T Yerer o1 98t o aran fawe g
RN DT Y

Options :




1. % IR Y 3O I H Bl
2. % ggd ¥

3. ¢ Jo8 Al

4. % TATD

Question Number : 191 Question Id : 2752286427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad oy & o fawe # 9, 39 fawed &1 7 & off U U erer &1 Tet o aran fawey g
I A8 AT

Options :

1. % g1 T YRl HAT
2. % §gd B3 P

3. % U] DAl

4. & -G Xd Pl

Question Number : 191 Question Id : 2752286427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & aR fawed § 9, 39 fadmed &1 7a &1 off U T8 gTar &1 Tet 3 aran fawed g
oI ORE BT

Options :

1. % BRI H 3MARI HAT
2. % §gd B3 B

3. % Ol BT

4. % 3{XJ-HXd Pl

Question Number : 192 Question Id : 2752286428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafed oy & aR fawedl § 9, 39 fadmed &1 78 &1 off [T T8 gTar &1 Te 3 aran fawed g

fea T S

Options :

1. % 3] JHY 3T
2. ¢ gAY dtd 81 ST
3. % ygig g

4. % T8 HIAT

Question Number : 192 Question Id : 2752286428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawe # 9, 39 fadwed &1 7 & off U 7T erer &1 Tet o aran fawey g

f&= &1 ST

Options :

1. % 33T JHY 37T
2. ¢ Y Hdid 81 S
3. % ygfig g

4. % fgHd HAT

Question Number : 193 Question Id : 2752286429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad vy 8, IR ol 7 9, 39 fdhey &1 97 B3 o) <1 718 Aipifad o1 Igt 3 are faseu g1
He A A | B3

Options :

1. % Iac g a1 B

2. % Ho Ut 7 UG UM

3. ¥ SR Y i YR 4 2y

4. % PHicdHH DI Tl BT ITedl &



Question Number : 193 Question Id : 2752286429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed gy §, IR eedl 7 9, 39 A cd &1 987 B3 oY <1 718 Albifad &1 Tat 31 arell fabeu g1
He A S H B3

Options :

1. % It Areft ard BT

2. % Ho Ut 7 UG UM

3. ¥ SR Y i YR 4 2y

4. ® DS HTH DI Tal BT I8dl o

Question Number : 194 Question Id : 2752286430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fawed &1 97 &3 St < 715 Aipifad &1 Tat 31 arett faweu g1
A%l & 9= DI a1 DI RIardT g

Options :

1. % PO PIPS BRI

2. % g aM

3. ¢ T[0T ST 31Td &

4. % YR DI Fol foTTre BT

Question Number : 194 Question Id : 2752286430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR fowedl & T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 31 arar ey g
TSl & o= P o1 HI RiEmdr g

Options :



1. % $O DI PO DA

2. % Fd M

3. ¢ T[0T ST={OITd 31Td &

4. % YR DI Iol foT1g B3

Question Number : 195 Question Id : 2752286431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy #, IR el 7 9, 39 fawed &1 987 &8 St < 715 Aipifad &1 Tat 31 arett faweu g1
1R U J[aH AR

Options :

1. % SOd TS TR (U &1 TS 3MTelt &
2. % HTH 9 HIA DI GgHI

3. % $% 9 e T oo e s giar g
4.« T & IR Hewd 94 oldl &

Question Number : 195 Question Id : 2752286431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faffad uy & IR foeedl & T, 39 ey &1 Ta &1 ot <1 718 dipifad &1 Tet 3 arar ey g
R T YFH GRY

Options :

1. % SOXd TS UR (U &1 1 3MTet &
2. % B T P DI gHI

3. % B3 A i A 5o e sraT 8T 8
4.« TG & IR A 9&d oITdl §

Sub-Section Number : 2
Sub-Section Id : 275228401
Question Shuffling Allowed : Yes




Question Id : 2752286432 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafeiad Taiw & ermyde ufgu 3R fau mu sk & 3w |

I B MY BT U Th He@qul U ¢ | 31U TG a1 G 1 FAial AfeadR o1 Ot ay §1g &1 aRkfeufaat &1+ g fafdr 8 urew
1 HIFRIBAT 3R ST Sl Jobdll g2 3(d: P13 Hi HIIdT (o AHARIs TR & Fael S IR 3ieb a8 o1 Ual 81 B Yebell Wil
I 3O ITATHTA & SR BI g1 TR Alfed & Ul 3161 BT HRUT I8 ¢ fob 9, IRFRUTT 3R HTaaie Sea- & 1Y g1 ared! di
AR 3R TR+t I T 8 1 Wit o a4 & 3% ey THH0 &7 YR 61 8| STB! AT BT IR MMUR 8, I
SHa-Hed TUT 3! 3dd HaldHd SNl ot A9 &1 WaAd 9UT IR A faHh & oIt uy-vefe &1 & Hdl ¢ | R4 Aied
®1 had ag! M-Tigd TAR AT I S A Siia--Hedl & 3 & Iichg TgaivT & 3ruar fufd em & Jers 81 o8 an e &1
I Ufcaadl B SRATHR B & | 9 A ¢ [ AMeABR HRUE Bl 5 3R 39 R BIs 1 ga1d R a1 g1 At | favg 9 y@
S € T Tifec & fmfor &1 ga IR #1a stte= § € fagwm & ]

Sub questions

Question Number : 196 Question Id : 2752286433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE F TR Faad I 61 e B WIS 3R MYadl IR 1 THTT TSl 8?2
Options :

1. % g b1 Hgwd HHI g1 Saerdr Te g fobl +it et # feran mam g1

2. ¢ e o B1a TR URRRUFT F fora el &, 39 9 a8 St URifTes giar @
3. % ®Is 1 AIfe o= Wi ufka=r & ugd oI gt T Xadl §

Question Number : 197 Question Id : 2752286434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IR & U 3171 & AR bl 3T BT T HRUT g2
Options :

1. ¢ gAY, URRRUFIT 3R Hrasfl BT ST

2. % R e &1 7 e

3. % YIS BT S



4. % Tligdl B HAR

Question Number : 198 Question Id : 2752286435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foplt e Pt AFAT BT T YR 52
Options :

1. % IYBT AT T ITAS BT

2. ¥ SaA-Heg T 31 Halld P SNl
3. % GIiedPR Pl T

4. ® 3BT HET

Question Number : 199 Question Id : 2752286436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 I DI - AT G IR &1 YATIaTe Red 51 52
Options :

1. % Jao

2. % Ip YT

3. ¥ HSDIHI

4. % JHT

Question Number : 200 Question Id : 2752286437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y N C

Y 3G BT Hls Iugad X

Options :

1. % 94 91fgd

2. % IR 3R TfigddR

3. % OI&h| i B

4. ¢ g ot U Tehd




Question Id : 2752286432 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

frafeiad Taiw & ermyde ufgu 3R fau mu sk & 3w |

I B MY BT U Th He@qul U ¢ | 31U TG a1 G 1 FAial AfeadR o1 Ot ay §1g &1 aRkfeufaat &1+ g fafdr 8 urew
1 HIFRIBAT 3R ST Sl Jobdll g2 3(d: P13 Hi HIIdT (o AHARIs TR & Fael S IR 3ieb a8 o1 Ual 81 B Yebell Wil
I 3O ITATHTA & SR BI g1 TR Alfed & Ul 3161 BT HRUT I8 ¢ fob 9, IRFRUTT 3R HTaaie Sea- & 1Y g1 ared! di
AR 3R TR+t I T 8 1 Wit o a4 & 3% ey THH0 &7 YR 61 8| STB! AT BT IR MMUR 8, I
SHa-Hed TUT 3! 3dd HaldHd SNl ot A9 &1 WaAd 9UT IR A faHh & oIt uy-vefe &1 & Hdl ¢ | R4 Aied
®1 had ag! M-Tigd TAR AT I S A Siia--Hedl & 3 & Iichg TgaivT & 3ruar fufd em & Jers 81 o8 an e &1
I Ufcaadl B SRATHR B & | 9 A ¢ [ AMeABR HRUE Bl 5 3R 39 R BIs 1 ga1d R a1 g1 At | favg 9 y@
S € T Tifec & fmfor &1 ga IR #1a stte= § € fagwm & ]

Sub questions

Question Number : 196 Question Id : 2752286433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE F TR Faad I 61 e B WIS 3R MYadl IR 1 THTT TSl 8?2
Options :

1. % g b1 Hgwd HHI g1 Saerdr Te g fobl +it et # feran mam g1

2. ¢ e o B1a TR URRRUFT F fora el &, 39 9 a8 St URifTes giar @
3. % ®Is 1 AIfe o= Wi ufka=r & ugd oI gt T Xadl §

Question Number : 197 Question Id : 2752286434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R IR & U 3171 & AR bl 3T BT T HRUT g2
Options :

1. ¢ gAY, URRRUFIT 3R Hrasfl BT ST

2. % R e &1 7 e

3. % YIS BT S



4. % Tligdl B HAR

Question Number : 198 Question Id : 2752286435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foplt e Pt AFAT BT T YR 52
Options :

1. % IYBT AT T ITAS BT

2. ¥ SaA-Heg T 31 Halld P SNl
3. % GIiedPR Pl T

4. ® 3BT HET

Question Number : 199 Question Id : 2752286436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T8 I DI - AT G IR &1 YATIaTe Red 51 52
Options :

1. % Jao

2. % Ip YT

3. ¥ HSDIHI

4. % JHT

Question Number : 200 Question Id : 2752286437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y N C

Y 3G BT Hls Iugad X

Options :

1. % 94 91fgd

2. % IR 3R TfigddR

3. % OI&h| i B

4. ¢ g ot U Tehd




